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From which of the following Harappan Civilization 1.

sites, we find evidences of water conservation?
(a) Lothal (b) Kalibanga

(c) Mohenjo-daro (d) Dholavira

On the bank of which river “the battle of ten kings” 2.

mentioned in Rigveda, took place?

(a) Parushni (b) Sutudri
(¢) Vipasha (d) vitasta
The term ‘Hindustan’ was used for the first time in 3.

the inscriptions of which dynasty?

(a) Mauryan (b) Sassanian
(c) Kushan (d) Mughal
Match list - I with list - II and select the correct 4.

answer using the code given below the lists —

List-1 List-II
.(Harappan site) (Crop)
(A) Chanhudaro (1) Sesame
(B) Harappa (2) Kodo
(C) Kuntasi (3) Rice
(D) Hulas (4) Mustard
Code -

(@) A-1,B—2,C-3,D-4
(b) A~2,B-4,C-1,D~-3
(c) A-4,8-1,C-2,D-3
(d) A-3,B-2,C-4,D-1

Which of the following rulers of the Chola dynasty 5.

assumed the title of ‘Shivpad Shekhar'?

(a) Rajraja-1 (b) Parantaka-1I

(¢) Rajendra-1I (d) Rajendra-1II

TW §Wal & fefefad § 9 f6a wm 9
STl e @ 9y Ao 87

(a) eI (b) FHTefg

(c) HI8H Sige! (CRESIICIR

wg ¥ Shefad ‘eI gg fha T8 @
de TR ST AT 91?7

(a) Towiy
(c) fagrem

(b) ggfs
(d) faaar

|y R R P Seord by Irore
@ 3ifrerdl # g 87

(a) it (b) R

(c) FETT (d) TTet

A1 HI A9 Gaford sifey iR g

%+ Ry 1Y @ & w8 SR gAY —
-1 -1

(e @) (PEQ)

(A) FTEEST (1) e

(B) ESW (2) BIaT

(C) prret (3) &=

(D) g (4) T

xE —

(a) A-1,B-2,C-3,D-4

(b) A-2,B-4,C-1,D-3

(c) A-4,B-1,C-2,D-3

(d) A-3,B—2,c—d,D~—1 _

fr=feiRed & & O 9w @ P TRw A
Rrqure IR’ @) ST gRT B AR

(@) oRIeT — 9y2H (b) oX=<idh — 92M

(c) oI — woH d) o — fed
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6. Consider the following foreign travellers and 6. f=fafaa fash it w® fREr BT TT

arrange them in chronological order — IT6] PBIABHATTAR TIRAT PIfTT —
(I) I-Tsing ) sfeeT
() Al-Baruni (Ili W—m
(ITI) Fa-Hien (I11) RIS
(IV) Yuan-Chwang _
Select the correct answer using the code given (V) %W—F\EIFT
selow= A T g ¥ w SR B a i —
®) 11 1L, Iv BTV, I 1 (@) L, IL, 1L, IV (b) 1V, IIL, IL, I
(€) UL 1v, 1,11 (@) 1V, IL 1L 1 ~(e) LIV, LTI (d) TV, IL 1L I
7. Which of the following (Dynasty — Founder) is not 7. fy=ifafad % & @F—ar (@1 — H¥emu®) e
' correctly matched? gafera =gl 87
(@) sangam — Harihar-I (8) {1 — ERER—Te
(b) Tuluva - Krishnadeva Raya (b) Fegar — q;mﬁ_“” AL
(c) Saluva — Narsimha Saluva (€) Far — R e
(d) Aravidu - Tirumala (d) srifag, — forewTen
8 The meaning of ‘Deh’ in Mughal period was - 8. DIt H TE BT arcad bEwy ofr?
(@) District (b) Commissioner (a) forem (b) TSl (PIHER)
- (e) Village (d) None of these (c) rg (d) $7 & @i T
9. Which of the following foreign travellers has 9. f=falRaa & 31 fw ﬁ?ﬁ'{’ﬁ AR q ARG
mentioned the legend of ‘Anarkali’? B TAHAT BT Soeixg [har 22
(@) Ralph Fitch (b) William Hawkins (@) wIew v (b) faferaw Sifr=g
(¢) william Finch (d) Sir Thomas Roe (©) fafsras fsg (d) TR o
10.  Which of the following is not correctly matched? 10. f=foiaa & ¥ BF—ar U WEl gafera wEl
: 27
" (a) Barid — Messenger @) T — HeIaEF
(b) Sadaka — Charity (b) HewhT — T
() Mugaddam - Village Headman (©) qFHgEH — T BT qRIAT
(d) sarkhel — Chief of Infantry (d) TR — YeaT AT B T
11. Which of the following (Revolts during Shah Jahan’s . Fr=faRea # 9 Sl—1 (Iesel & I dret
Reign — Leader of the Revolt) is not correctly H fage — fage &1 Jan) 98 gHfera w81 87
matched? (@) FITer &7 fAgie — o RiE
(a) Revolt of Kangra — Jagat Singh (b) gﬂm FT fAEE — a9

b - Rai . .
(b) Revolt of Bundelkhand — Champat Rai © 3§ fer Rree — wewer Riz

(d) foaa fAgie — sreTar

(¢) Revolt of Bhils in Malwa — Laxman Singh
(d) Tibet Revolt — Abdal '

L e R



12.

13.

14.

15.

16.

17.

' (a) Majjhima —Nikaya

Which of the following Sultans of Delhi imposed
‘Jizya tax’ on Brahmins for the first time?

(a) Ghiyasuddin Tughlag

{b) Firoz Shah Tughlaq

(c) Alauddin Khalji

(d) Aram Shah

With reference to the Delhi Sultanate which of the

following statement(s) is/are correct?

(1) Qutub minar was dedicated to the Sufi saint,
Qutb-ud-din Bakhtiyar Kaki.

(2) The tower was damaged by lightening in 1369.

Select the correct answer using the code given

‘below -

(@) Only 1 (b) Only 2

(c) Both1 &2 (d) Neither 1 nor 2

Who was the author of ‘Tabaqat-i-Akbari"?
(a) Bhimsen Kayasth  (b) Badauni

(€) Abul Fazl (d) Nizamuddin

‘Gizali’ was the famous writer during whose period?
(b) Alauddin Khalji
(d) Jahangir

(a) Balban
(c) Akbar

Which of the following texts was translated into
Persian under the title ‘Bahr-ul-Asmar’ during the
reign of Akbar?
(a) Panchatantra (b) Arthashastra
(¢) Rajatarangini (d) Yoga Vasistha

The ‘Therigatha’ in Buddhist literature is related to
which of the following bodies?

(b) Samyukta — Nikaya

(c) Anguttara— Nikaya (d) Khuddaka — Nikaya

12.

13.

14.

15.

16.

17.

frfafed § ¥ feeehl & &9 geam A gEon

R TR IR SRR B oar?

(@) TR TP

(b) BRI I8 GTAH

(c) sremsE Raeroft

(d) ST e

e Aoaa @ Wey # fFfoalRad doEl A

J B AT/ TE B /B

(1) Bgd AR g A Hga—Se—a IRTIR
B B Fafaa o |

(2) AR fasTel fiRA @ &R 1369 # afaus
a1 T o)

g fov T e # | ¥E SR Pl gihg —

(a) Baa 1 (b) Had 2

(€) 19 27HI (d) T ar1-me2
TIBIG—Y—IHE B oGdH DI A?

(a) T e (b) SEIgAL

() Ig BT (d) fremer
ol fhas o & fawa TFeR 97
(a) go1dd (b) 3reTSEN Racrol!
(c) IrHIR (d) SrERfR

TS IS AHaR D AT Bl ¥ fog =T
P TH-SA—SAR’ B NP W BRA A

e fasam ar?
(a) gEra—=t (b) 3refeme
(c) TSTaRMATON (d) IrT RS

die afta #§ S Frefred ¥ ¥
o 4 =g 87
(a) gism — Mol

(c) R —

(b) wgaT — Fer
(d) geo — ol
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18.

With reference to the Puranas, which of the

following statements is/are correct?

(1) Vishnu Purana is considered more reliable for
the history of Mauryans.

(2) Matsya Purana is considered more reliable for
the history of Andhras.

Select the correct answer using the code given

18.

RN @ e # Aol § @ e /Q

AT TE B/ E?

(1) faw] RIoT B Af B e @ R slRe
YIS AT ST © |

(2) FEHT QRIOT BT 3201 & sfer & forg arfre
IO AT ST € |

I Ry T g d | W S BT T

below - BT —
(@) only1 (b) Oniy 2 (a) daet 1 (b) e 2
(c) Both1&2 (d) Neither 1 nor2 () et 19 2 (d) Far 19T & 2
19. Originally ‘Bhagwat Geeta’ is part of which Parva of 19. “wrgg AT Hord: AEMRG & B9 99 BT Sy
Mahabharat? L
(a) Bhishma Parva (b) Drona Parva (a) ¥frs7 ud (b) BYoT U
(c) ShantiParva (d) Anushasan parva (c) 3ifeg ud (d) sreEmEa qq
20. |n w;hich of the following literary works, some parts 20. fT=foiRaa 7 & fw wifefas o & BFE A
are found from the architectural work namely eR foF &1 FuSr AWE RGP | Ao
‘Adhai Din Ka Jhonpra’? _ 27 :
(a) Prithviraj Vijay (b) Harikeli Natak (a) gedRTar Aoy (b) eRPf ArcH
(c) Prithviraj Raso (d) Kirti Kaumudi (¢) gedRToT R (d) SR PR
21. Who said for the first time about the Indian 21. {dyom WRA T B P g § g8
National Congress that, “it is representing only a 1 225 G = B O e i Udh Qi&ﬂ—&?ﬂ?-fm
microscopic minority class”? T &1 ufafte s &7
(a) Lord Dufferin (b) Lord Curzon (a) e sHlRe (b) TS PHoi
(¢) Lord Minto (d) Lord Irwin (c) @S fireY (d) &S AT
22. With reference to the French East India Company, 22. HiRAReY Ive sfear & ded # fF=fofRaa & 9
which of the following statement(s) is/are correct? P/ PAT & 8/ 2?
(1) French East India Company was founded in (1) BT E’R =fear H B RIUET 1664 H
1664. Eﬁ off |
(2) The first French Factory in India was established (2) AR f_,{ M HER taed TRYS
in Pondicherry. qepiftter < iy
Select the correct answer using the code given '
below: %ﬁqwa@@ﬂﬁﬁ?ﬂﬁ?—
(a) only1 (b) Only 2 (a) Baat 1 (b) Daet 2
(c) Both1&2 (d) Neither 1 nor 2 () I 19 2 (d) F4r 1 71 & 2
[23-A]-134101 Page 5 of 32
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23.

24.

25.

Match list — | with list — Il and select the correct

answer from the code given below the lists -

List—1 List—1i
(Newspaper) (Language)
(A) Comrade (1) Eengali
(B) Navjivan (2) English
(C) Swadesamitran (3) Gujarati
(D) Sulabh Samachar  (4) Tamil

Code:

(a) A-2,B-3,C-4,D-1
b)) A-3, 83,01, D-4
(c) A-1,B-2,C-3,D-4
(d A-4,B-3,C-2,D-1

Who was the author of ‘The Philosophy of the
Bomb'?

(a) Bhagat Singh (b) Bhagwati Charan

Vohra
(c) Batukeshwar Datta (d) Rash Behari Bose

Given below are two statements, one is labelled as

Assertion (A) and other as Reason(R) -

Assertion (A) : Bhagat Singh, completely and
consciously, was a secular

thinker.

Reason (R): He used to say that, “Communalism
is also as big enemy as the British
colonialism and we have to face it.”

Select the correct answer using the code given
below:
(a) Both (R) and (A) are true and (R) is correct

explanation of (A)

(b) Both (R) and (A) are true and but (R) is not

correct explanation of (A)
(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

23.

24.

A1 B G- § gafea ARG For gt

3 1 Ry 1Y e ¥ 98 <R gAY —
A I
GRIEIEE)) ()

(A) PTRS (1) STTRH

(8) Faofra= (2) 3RISH

(C) T eTAFT (3) ORI

(D) o FHTEAR (4) afAe

Pe

(=Y

(a) A-2,B—3,C-4,D-1

(b) A-3,B-2,C-1,D-4

(c) A-1,B-2,C-3,D-4

(d) A-4,B-3,C-2,D-1

T fhallaw! 3% T 4/ & oGP BT A7
(@) 7 Rig (b) TadT TR AT
(c) ITHTAR T (d) 319 faerd 9

a0 31 FF & RFH @ b BT iffdeH (A)
3R TR BT BRI (R) HET TAT & —

AP (A) : 9a e o8 dRE SR =T U
I AR faar®s o

J IO IR | HET IR o
“ArgETREar A ST & 99T WY
2 o & sl SufceErs
AR BT T | HEAT BIAT
BT |

Ry W g |4 98 SW B AIA

DR (R) :

(@) (R)3R (A)THI & & 3R (R), (A) BT FEY
AT FAT ©

(b) (R) 3R (A)EHI W& & g (R), (A) B
T @RAT TR HAT ©

(c) (A) @, f&H=g (R) Tora ©

(d) (A) Terd €, fbg (R) AU ®

[23-A]-134101
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26. In which city of United Provinces (presently Uttar 26. 1924 ¥ WgH Wid (G SR vew) & ey
Pradesh) a meeting of the revolutionaries from all e H '\“IT{Uf AR ¥ wHifaepregy .?f?f Jo5 ﬂ?ﬂ‘&‘
parts of India was called in 1924? g oY
(a) Lucknow (b) Meerut (@) o (b) AvE

- (c) Bareilly (d) Kanpur (¢) et (d) YR

27. Which of the following was the main objective of 27. 3rayr # G | - [ e ) = Q89

the ‘Eka movement’ in Awadh? fFr=foRea & @ ar or?

(@) Non-payment of taxes (@) T Arerarrdy

(b) Protection of the rights of landlords (b) SPAIRRT & SAfErpIRY Y Y e
(€) Conversion of taxes into cash (€) & BT wIpg # R BT
(d) Opposition of the British Rule (d) ST I &1 RN BT

28. To whom Lord Mountbatten called ‘One-Man 28. GfE wSeded A 5y a7 A9 qISE BRI e

Boundary Force’? PR Haifera fear?

(@) Mahatma Gandhi (@) e ey

(b) Vallabh Bhai Patel (b) FeeRrTE Tee

(©) Jawaharlal Nehru (¢) STarERee JEw
(d) .Dr. B.R. Ambedkar (d) ST 3R, srsHR

29. “India, that is Bharat, shall be Union of States”, 29. e sl 9Rg I @ UH HY BRI,
(Indian Constitutionl). The word ‘Union’ is derived ('*ﬂ'i’?ﬂ'q ﬂﬁaﬂ) | "‘{ﬁ?ﬂ veg 59 o @
from the Constitution of which country? GAeT= | wgor far Tar 27
(a) US.A. (b) Switzerland (@) HgH 5T AR (b) %EWU@

(¢) Canada (d) Australia (€) @S - (d) iR feram

30. Which of the following pairs (Act — Year) is not 30y wWfum & sfdfa RA=ffeg i
correctly matched under the Constitution of India? ;’jq"w I (e — i) wE ﬁ'ﬁﬁ-‘ﬁ Tl
(@) Hindu Succession Act — 1956 (@) Ry STRINBR AT — 1956
(b) Hindu Marriage Act — 1955 (b) fa=g faare s — 1955
(€) sati (Prevention) Act — 1987 (e) wchr weorr (Fer) s — 1987
(d) Jammu & Kashmir Re-organisation Act — 1918 (d) 5= vd HoiR giien siffas — 1918

31. Traditionally ‘Zero Hour’ in the Parliament of India 3. WREARFTT ©7 F IR & gEg YDA BT
begins at - YR™ BT & —

(@) At9:00A.M. (b) At 10:00 A.M. (a) 9:00 a1 UTAHTS  (b) 10:00 T U
(e) At11:00 A.M. (d) At 12:00 Noon () 11:00 951 WTEwIST (d) 12:00 TSt e
[23-A]-134101 Page 7 of 32
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32.

33.

34.

35.

In such situation, when the Speaker has to vacate
his seat in the State Legislative Assembly, he will
submit his resignation in his own handwriting with
signatures to whom among the following?

(a) Governor of the State

| (b) Chief Minister of the State

(¢) Minister of Law & Justice of the State

(d) Deputy Speaker of the State Legislative
Assembly

Which of the following statement(s) is/are correct

regarding appointment of District Judges in India?

(1) They are appointed by the Governor of the State 2

only.
(2) They are appointed by the Governor of the State
with consultation of the State High Court.
Select the answer using the code given below -

(a) only1 (b) Only2

(c) Both1&2 (d) Neither 1 nor2

Which of the following is not a fundamental duty?

(@) To protect and improve the natural
environment.

(b) To strive towards abolition of untouchability.

(¢) To cherish and follow the noble ideas which
inspired our national
independence.

(d) To develop scientific temper, humanism and

spirit of inquiry and reform.
Which of the following Articles of Indian
Constitution is related to the ‘Uniform Civil Code’?
(a) Article 41 (b) Article 42

(c) Article 43 (d) Article 44

struggle for =

32=Q@qﬁﬁmﬁﬁ,mwﬁmﬂm$mﬂ

BT o Wie Res FHEA 8, T8 AT AT
Y Exderg ¥ gWER wfta FEfafad § 9
ey wfeeTT?

(a) XST B XTI DI

(b) RT5U B AT B

() xrog & Ry vd =ma w5 P

(d) 5T @ FARTTEET B SURAE Bl

. yra ¥ fren raei @ fFgfe & el |

Preffad sl § 9 BF—WT/H B el

g/8? :

(1) ST FrIRe Baet 59 & AoFUT GRT B
SRl 2

(2) ST Fafs T B TSI ERT NG B
S e @ WHY ¥ B Sl B

f7 Ry W ®c 9 | ST BT AT

HITg —

(a) ®aat 1

(€) I 19 2

(b) waet 2
(d) 7 a7 1 T8 2

. Prfafed § § PH-H1 U Aferd T Tel

27 ‘
(@) wpfe gataRer B &l 7@ W B |

(b) YIS~ B foIg FaT HT |

(€) S W fEr) @ ged ¥ WolY <& SR
TABT SFTEARVT BT, TR TART TRAT
& fore i wad @1 aRa faan)

(d) Jsfre gRemIvr, AMgars 3R = gie
Tq GUR B ATGAT BT AR BT |

. e RuE @ e sgeel § @

PIF—aT T ARG W ¥ g 8?
(a) /=0T 41 (b) TTTT 42
(c) SrT=sT 43 (d) /=g 44

[23-A]-134101
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36. Consider the following events and arrange them in
chronological order:
(1) Sajjan Singh Case
(1) Berubari Case
(1) Golaknath Case
(IV) Kesavananda Bharati Case

Select the correct answer using the code given

below - s
@ 11,1, 11, 1v (b) 1, 11, 1v, 11 by
©) m,1,n, v (d) v, m,1,n b

Which of the following Articles of the Indian __'“

m—

37.

Constitution is related to the power of the _

President of granting Pardon?
(@) Article 72 (b) Article 78

(c) Article 80 (d) Article 81
_—

38. Which of the following (State — Number of o0
Members in Lok Sabha) is not correctly matched? _.._
(a) Gujarat-26 (b) Jharkhand - 16 p ;
(¢) Haryana-10 (d) Himachal Pradesh -4 —
39. Which of the following is a court of record?
(@) Supreme Court

(b) High Court

(¢) Both Supreme Court & High Court

(d) Lower Courts

40. Which of the following Articles of the Indian .=

Constitution provides provision for a Public Services
Comrhission for the Union and a Public Service
Commission for each state?

(@) Article 312 (b) Article 315

(d) Article 320 C BN

From which Article of the Indian Constitution, the =

3

(€) Article 318
41.

Supreme Court has enumerated the Right to .-

Livelihood, Right to Privacy, Right to Dignity and

Right to Hearing?

(@) Article 19

(c) Article 21

(b) Article 20
(d) Article 22

36. f=faRaa seamell R e AT o s=
e PremH 3§ raRer AR
() oo g @9
() SN B
() THT B
(V) BeEF=< 9RA B9
T RY M g #owEM aR W S

gy —
@ u, 1,1, 1v (B) 1, 11, v, 11
(e) m, 1, n, v (d) v, 1,1, 0
3. ureha wfue @ frefaRed seEet § W
DT IASURT & aHEE P ANFR J
T 87
(@) sz 72 (b) srgzoT 78
(c) 3rq=sT 80 (d) srge=sT 81

- fafad § @ sl—ar (g — erear §
AR W) e gAfera T8 &7

(@) oRIT —26 (b) IIRETS — 16

(e) gRamom — 10 (d) feimerer uger —4
Fferfea & I PlH—ar sferg a1 =Ty
87

(a) ¥ratea =Ty

(b) S=g ~raTeTy

() ST Heted =TT U SeE ATy
(d) 3rEfieer =TTy

IR wfee & frafaiad sgeset 3 @
DT Th Y @ ¥aT AT a4 UAH
I & 1Y e WA ImET B WTaRT B

39.

40.

27
(a) =g 312 (b) /=g 315
(c) srg=sT 318 (d) 3rg=8T 320

4. R JfeH @ P9 s 8 Swuaw
W q S w1 iR, frodr @
PR Freprer &7

(b) 3rg5a 20

(a) =g 19
(d) 3rg=e% 22

[23-A]-134101

Page 9 of 32

(e) WZI
AR



42.

44.

45.

46.

Who said that, “The Directive Principles of the State
Policy are the only pious aspirations of the noble
souls”?

(a) Ivor Jennings (b) K.C. Wheare

(c) Granville Austin (d) Lord Acton

. Match list — | with list — Il and select the correct

answer using the code given below —
List—1

(A) Part XV of Constitution

(B) Part XVII of Constitution

(C) Part XVIIl of Constitution

(D) Part XX of Constitution
List—=1I

(1) Official Language

(2) Elections

(3) -Amendment of Constitution

(4) Emergency Provisions

Code -

(@) (A)-2,(B)-3,(C)-4,(D)-1

(b) (A)-2,(B)-1,(C)-4,(D)-3

(c) (A)-4,(B)-3,(C)-1,(D)-2

(d) (A)-1,(B)-4,(C)-2,(D)-3

Which of the following (Part of Indian Constitution

— Subject) is not correctly matched?

(@) Part—Il — Citizenship

(b) Part—Iil — Fundamental Rights

(¢) Part-IV — Directive Principles of State Policy

(d) Part—V — Fundamental Duties

Who was the founder of ‘Republican Party of

India’?

(a) Charu Majumdar

(c) Subhash Chandra
Bose

(b) Dr. B.R. Ambedkar
(d) Dr. Rammanohar
Lohiya

Public Accounts Committee has the following
members: (Give the correct answer) -
(a) (Lok Sabha) - 11, (Rajya Sabha) - 05, (Total) - 16

(b) (Lok Sabha) - 15, (Rajya Sabha) - 07, (Total) - 22
(¢) (Lok Sabha) - 10, (Rajya Sabha) - 05, (Total) - 15
(d) (Lok Sabha) - 17, (Rajya Sabha) - 10, (Total) - 27

42.

43.

46.

a‘rguama‘nﬁzﬁrtrﬁramm'r&ﬂma%‘“?
(a) IMzER A (b) 3. @R
(¢) Fafaar ifRe (d) <t vaeH

A — 1B g — 1 gAfed BT e
gt & A Ry Y g & FET S g
FE SR BT AT DI —
T — |
(A) G &7 AT XV
(B) AT BT AT XVII
(C) WfAE &T AT XVl
(D) fRTE BT AT XX
g — 1
(1) RTSTHTHT
(2) fat==
(3) wfder e
(4) ST SUF
Eﬁc\E_
(@) (A)-2,(B)-3,(C)-4,(D)-1
(b) (A)-2,(B)-1,(C)-4,(D)-3
(c) (A)-4,(B)-3,(C)-1,(D)-2
(d) (A)-1,(B)-4,(C)-2,(D)-3
fr=fafaa 3 @ BH—ar (IR & Gl B
Tt — fawa) ) gAfem =E 27
(8) 9RT—I — ARSI
(b) HRT—II — HIfeTd PR
(€) ¥T—Iv — gt & s Rigr
(d) 9FT—V — AifeTh HT
?

(a) =M ASHIR (b) Sf. IR, FASHY

(©) o o Sr (d) S YEEARR
e

A — o iRy @ e frEfiRed @

2 (T8 SR AR —

(a) (@ | - 11, (757 F91) - 05, (TT) - 16
(b) (chve |T) - 15, (RT5T T1) - 07, (A1) - 22
(©) (e |¥) - 10, (RT5T 1) - 05, (AT) - 15
(d) (e |WT) - 17, (159 ¥ - 10, (A0T) - 27
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47. With reference to the reservation of seats for
women in Panchayati Raj Institutions, which of the
following statement(s) is/are correct?

(1) Itis provided in the Article 243D (3) of the Indian
Constitution,

(2) The reservation shall cease to have effect on the
expiration of the period specified in Article 334.

Select the correct answer from the code given
below —

(@) only1 (b) Only 2

(c) Both1&2 (d) Neither 1 Nor 2

48. The Autonomous District Council under the 6
Schedule of the Constitution of India is not
operative to which of the following states of North
East India?

(@) Assam (b) Tripura

(¢) Nagaland (d) Meghalaya

49. Which one amongst the following rivers flows
through a rift valley?
(@) Mahanadi
(e) Krishna

(b) Tungabhadra
(d) Tapi

50. Match List — | with List — Il and select the correct
answer using the code given below:

List =1 List=11
(Shifting Agriculture)  (State)
(A) Ponam (1) Odisha
(B) Beera (2) Kerala
(C) Jhum (3) Madhya Pradesh
(D) Podu (4) Assam
Code:

(@) (A)-1,(B)-2,(C)-3,(D)-4
(b) (A)-2,(B)-3,(C)-4,(D)-1
(c) (A)-3,(B)-4,(C)-1,(D)-2
(d) (A)-4,(B)-1,(C)-3,(D)-2

51. Which of the following rivers is not included in

‘Panchnad’?
(@) Sutlej (b) Beas
(€) Indus (d) Jhelum

47. et T wRenell F Af¥emeii @ R siRf
el & a= ¥ frfoled § & Sv—ar /9
BT HE B /& '

(1) SHHT I WA & e 2437 (3)
# foar mar 2

(2) TT JAREVT BT 334 H fAfde @l &)
TG G B G W gHE g9 |

M T 17 e & 9 SR g -
(@) ®aer 1 (b) o 2
(c) TFT 19 2 (d Far1s1 8 2

48. wﬁuwﬁuﬁaﬁﬁ‘aaﬂiﬁrﬁmw
e uRws 9t e sw= — gd wra @ frg

I WX AT 78 81 -
(a) srH (b) =T
() AmTTcivs (d) #remery

49. f=forfaa wfed} & @ BF—<q =181 oo 1)
| waifea By &7

(@) wEFE (b) grraT
(c) o (d) ardy
50 gdll — 1) WA — 1 gAfera Fg e

T — 1 = —
(TR BR) (/1)

(A) Gr=TH (1) =T

(B) 9T (2) B

(©) 3 (3) &I YT

(D) drg (4) 3

e

(@) (A)-1,(B)-2,(C)-3,(D)-4
(b) (A)-2,(B)-3,(C)-4,(D)-1
(¢) (A)-3,(B)-4,(C)-1,(D)-2
(d) (A)-4,(B)-1,(C)-3,(D)-2
51. Frafafaa wfeat § ¥ so—d v daue
afferd gt 872
(@) gagw
(c) fg

(b) =I7
(d) Srom

[23-A]-134101
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52.

53.

54.

55.

56.

Which one of the following (Railway Zone -
Headquarters) is not correctly matched?
(a) South Central Railway — Bengaluru

(b) South — East Central Railway — Bilaspur

(¢) South Western Railway — Hubli

(d) West Central Railway — Jabalpur

Which of the following (Mines — State) is not

correctly matched?
(a) Dantewada —Madhya Pradesh

(b) Sandur — Karnataka
(¢) Noamundi—Jharkhand
(d) Bailadila — Chhattisgarh

Which of the following (Biosphere Reserves —State)

is not correctly matched?

(a) Seshachalam — Andhra Pradesh

(b) Cold Desert — Himachal Pradesh

(c) Dehang Debang — Uttarakhand

(d) Kanchenjunga — Sikkim

Which one of the following Bioreserves of India is
not included in the World Network of Bioreserves?
(a) Manas (b) Nilgiri

(c) Guif of Mannar (d) Nandadevi

Match list — I_with list — Il and select the correct

answer using the code given below the lists -

List—1 List— 1l
(Mines) (Minerals)
(A) Khetri (1) Bauxite
(B) Giridih (2) Copper
(C) Sundergarh (3) Coal
(D) Koraput (4) Iron Ore

Code:
(a) (A)-2,(B)-3,(C)-4,(D)-1

(b) (A)-2,(B)-4,(C)-1,(D)-3
(c) (A)-4,(B)-2,(C)-3,(D)-1
(d) (A)-1,(B)-2,(C)-3,(D)-4

52.

53.

55.

56.

frfafaa # ¥ P9—<1 (ad S — F&ITer)
TE gfera 81 87

(@) gfdyor 7= Yod — S

(b) aféror — gd #ed Nefd — faerEyR

(¢) eféror ufdem Yad — gl

(d) afeed #ea Xeld — STaegR

Prefoag § ¥ @F— (@ — I9G) 8l
gafera =@l 87

(a) Edarel — A R

(b) TgR — PlcD

(c) ARMTE! — ARETS

(d) JTSIE — BRIATS

f=faReg & & ®Far (GEgvsd APTR —
Irg) A ghfera e 27

(a) JETEEH — 3T UH

(b) Ples ST — AT y_™

(€) BT JFMT — STIRTETS

(d) s — Riafass _

IRe &1, FrefRead 3 ¥ B SevvsR, fagg
ST B SITHUSR AR &rai § wferfer T8l
87

(@) #Hr1H (b) Hrarfirdy

(€) AR I =T (d) =T==T <

T — 1 B G — W AT BT TR
gt & S Ry MU fHe 9 FEl S B AT
PIFTY —

A —1 T —
(@aT) (@)
(A) Tt (1) dfearse
(B) FfrIETE (2) oeT
(C) G=XTE (3) P
(D) PRIYS (4) AT TATD
he:

(@) (A)-2,(B)-3,(C)-4,(D)-1
(b) (A)-2,(B)-4,(C)-1,(D)-3
(c) (A)-4,(B)-2,(C)-3,(D)-1
(d) (A)-1,(B)-2,(C)-3,(D)-4
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57.

58.

59.

60.

61.

62.

Which of the following states does not share its
border with Bhutan?

1 Sikkim

2 West Bengal

3 Assam

4 Meghalaya

Select the correct answer from the code given
below:

(a) 1only

(c) Both3 &4

(b) 2 only
(d) 4 only

Which of the following (Multipurpose Project —

River) is not correctly matched?

(a) Thein —Ravi (b) salal - Chenab

(c) Ukai-Banas (d) Bansagar—Son

Which of the following is not a Hydo — Power based
project?

(a) Koldam
(c) Singrauli

(b) Rammam
(d) Jhanor

Which of the following petroleum producing area is
not located in the state of Gujarat?

(b) Kosamba
(d) Moran

(a) Navagam

(¢) Kalol

Which of the following (Pass — State/Union

Territory) is not correctly matched?

(a) ‘Banihal — Jammu & Kashmir

(b) Debsa - Himachal Pradesh

(€) Niti— Uttrakhand

(d) Chang La — Sikkim

Which of the following (Research Institute —

Location) is not correctly matched?

(a) Forest Research Institute — Dehradun

(b) Arid Forest Research Institute — Jodhpur

(¢) Institute of Wood Science and Technology —
Hyderabad : '

~ (d) Himalyan Forest Research Institute — Shimla

57.

58.

59.

60.

61.

62.

fFrefifaa # & 5 =g & Do gem |
&l e 27

1 Rufd@s

2 UR¥EH 9T

3 3

4 VgAY

A fag 1T g I wE SR @1 T PR -
(@) ®aa 1 (b) ®aet 2

(c) S=if 39 4 (d) daat 4
fF=feiRad % & sH—a1 (sgseeia aRgen
— 7<) |E gAfera &l 27

(@) ofi< — =7t (b) et — forFTe

(c) IFHE — g (d) IUEFR — |

fFefafaas & § sl ste-fag@ smRa
g e 87

(a) ProsH (b) 3#7H

(¢) R (d) ZAR

HefeRed 7 4 sF—1 USiferm Saes &
TorRTd 5 7 Rere w8 27

(a) s T (b) BT

(c) Tl (d) ART

fe=ferRad # s—ar (axf — T /B el
gael) Hel Gaford T8l 87

(a) afeTel — 19 3R HHIR

(b) QT — BHMer ugww

(c) N — STRIETS

(d) =T @1 — fafdea

frferRad # & eA—ar (3 SR — Refd)

|EI gafera =gt 87

(a) a9 ST HRIF — JERIGH

(b) Y&F T T ERAF — SRIYY

(©) TSt fagm wd i Sem —
EERELE

(d}%wmaqaaﬁww-—&ﬂm
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63.

65.

66.

67.

Which is India’s first 14-Lane Expressway?
(@) Mumbai— Pune Expressway

(b) Agra— Lucknow Expressway

(c) Delhi — Meerut Expressway

(d) Yamuna Expressway

How many states of India are situated along the
coastline?

(a) 9 (b) 10

(c) 11 (d) 12
In which of the following rivers is the ‘Majuli River
Island’ situated?

(a) Ganga (b) Brahmaputra

(c) Godavari (d) Krishna

On which of the following hills-range s
‘Doddabetta’ peak situated?

(a) Nilgiri Hills (b) Anaimalai Hills

(c) Nallamala Hills (d) cardamom Hills

Which of the following lakes is shared by two States

of India?
(a) Pulicat (b) cChilka
(c) Lonar (d) Sambhar

Which of the following sentence(s) is/are correct?
(1) Natural gas occurs in Gondwana beds.

(2) Mica occurs in abundance in Kodarma.

(3) Dharwar rocks are famous for petroleum.

Select the correct answer from the code given

below —
(@) Only1&2 (b) Only2
(c) Only2&3 (d) Only1&3

63.

64.

65.

66.

67.

68.

YRT BT Usdl 14-09 FEMEE  (TaRIUHa)
PHH—T 87

(@) g% — guT vaausd

(b) MR — &S YaAUAd

(c) feell — *Re waawwad

 (d) IHAT T

YRA $ T oy dexvdr iR Rerd 87
(@ 9 (b) 10

(c) 11 (d) 12

fr=fafed % 9 fra 981 § Agel—E g
Rera &7

(a) ey  (b) FEIgH

(¢) Tt (d) o

‘ST @ FeEfilad § @ P TER
et R Rera 87

(@) e eIt (b) =TS wRIRAT

(c) FerHTaT UsIfedi. (d) wTSHA usIfear

F=fofRag § & o9 e 9Rd & <7 sl
ERT Qe P S’ 27

(@) gforpe
(c) IR

frefeRad oAr 3 & Biar /S 9 2 /82
(1) TIpfas = MeaEr Wwrl § U AR 2
(2) 3P BISHT H YR AIHT § 9T AT 2|
(3) uRars g™ Ugife & fog wRig €
I Ry T B ¥ 9E SR gfAe —

(a) Baa 137R2 (b) &deT 2

(€) Hacel 23R 3 (d_)‘q"v‘dalaft‘\fs

(b) fereepr

(d) |anR

[23-A]-134101
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69.

70.

71.

PMI Index shows trends in which of the following
sectors?

(1) Service

(2) Manufacturing
(3) Agriculture

(4) Export

Select the correct answer using the code given

below -
(@) 1and2 (b) 2and 3
(¢) 1,2and3 (d) 1,2,3and 4

Match List-l with List-Il and select the correct

answer using the code given below the lists —
List-l (Scheme)

(A) SMILE

(B) SEHAT

(C) SVANidhi

(D) SARTHAQ
IList-ll (Union Ministry)

(1) Defence

(2) Housing & Urban Affairs

(3) Education

(4) Social Justice & Empowerment

Code -

(a) A-4,B-1,C-2,D-3 (b) A-2, B-4, C-1, D-3-

(c) A-3,B-2,C-4,D-1 (d) A-1, B-2, C-3, D-4

Which of the following committee incorporated for
the first time private expenditure on health and
education while estimating poverty in India?

(@) Lakdawala (b) Rangarajan

Committee Committee
(c) Sen Committee (d) Tendulkar
Committee

- divHers. gEeie Aefofed d§ & e &=

3 ygRmt w1 gerfar 87

(1) =ar )

(2) fafemior

B P

(4) e |

TRy TR d F 9 TR F we
ﬁf&,p;;_

(@) 13iR2
(c) 1,2 3R 3

(b) 23R 3
(d) 1,2,33(v4

- I BT G-I gAfera BIfrg e R @

A= Ry MY g § 9 SR ghw —
ST (Frsr)
(A) ST
(B) A&
(C) Taf=fer
(D) |Tef®H
-1 (HE #H3Ter)
(1) Re
(2) ST & AT AT
(3) FRrem
(4) AHIRSTS =TT qd Ferfdaor
Te —
(@) A-4,B-1,C-2,D-3  (b) A-2,B-4,C-1,D-3

(¢) A-3,B-2,C-4,D-1 (d) A-1,B-2,C-3, D4

- FfoRaa & 9 o wfafy err wra & T

® AT oY Usell IR WReY U§ T W
B a1t Aol &g @1 off wnfae feam T 22
(@) SwsEeT dAfa (b) STRe wfafy

(c) o= afafy (d) dgerax afafa
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72. From 1 April, 2022 what surcharge has been levied 72. 1amie, 2022 A TP YHR P IRTERET W)

on Long-Term capital gain on all types of assets? MGG t!\ryﬁ ey &Y R fhaar IR
& 5
(a) 7.5 Percent (b) 10 Percent AR T
< (a) 7.5 wferera (b) 10 Hfcrerd
(c) 12.5Percent (d) 15 Percent
o~ () 12.5 gfarer (d) 15 gfarerd

- |

73. After theUs Dollar-denominated debt, which of the ~ 73- o9, Sfer & T o1 B a1g, Rz 2021

-

following currency-denominated debt is the second P T O URd & 9red = H 0 e gur
largest component in India’s external debt at the & AT T BT ERT Iy IT 9T 22
nd of December 2021?
SRELEE (a) THIIR. (b) HRAT BT
(a) SDR.— (b) Indian Rupee -
29 (c) (d)
(¢) Yen- (d) Euro ?-lﬁ

<~ . ;
74. In whichegf the state, world’s first Nano-Urea Plant 74 D<=t Rt AT T fawd & wgel A1 g0

has beefi inaugurated by P.M. Narendra Modi? il %1 SEeA e Xroy # foar T 27
(a) RN (b) TR U<

(a) Haryana (b) Uttar Pradesh

(c) Madhya Pradesh (d) Gujarat () 7 e . (d) o

;‘\-. H

75. Accordingto the Union Budget 2022-23, howmuch  75- $a1d doie 2022-23 & IIWR, G fhad @

- |
total ex@eﬁditure has been estimated? T AFHM 8?7

(a) 34.83% oG Frs  (b) 37.70F oIRG BRIS
(a) ¥34.83 Lakh Crore (b) ¥37.70 Lakh Crore

c &g B (d AT B
(e) ¥39.45 Lakh Crore (d) ¥ 48.55 Lakh Crore ©) 39.45% 5 (d) 48.55% '

76. Which of“the following is/are correct goals to 76. 2022-23% GEHIY goic & oIy "RyAHel | 9RA

e

India’s é;ﬁirations in ‘Amrit kaal’ for the Union Y apiEmell @ forv f=falRag § & -1
Budget ;&%02}23? &g TE ¥

I- Focus on growth and all-inclusive welfare | T . e

II- Promoting technology-enabled development ' - e | BT BT geEr S

(a) only!| (b) Only I () &ae | (b) &g Il

(c) Both | &Il (d) Neither I nor il R T () 7 a7 147 & 0

B et RS



77. Match List-l with List-ll and select the correct 77. &1 H1 -1 gAferd sifog der i fag

answer using the code given below — T HE | FEl TN BT T BTy —
List-1 (Yojana) List-ll (Year) ﬁ?ﬁ—l @GT-IT) Tﬁ‘“ (Tﬁ)
A- Atmanirbhar Bharat 1-2019 A- ITHAHY 9RT 1- 2019
B- PM-WANI 2- Dec. 2020 B- GrgH—arofy 2- fe&max 2020
C- PM-KUSUM 3-2018~ C- GIgH—ggH 3-2018
D- Ayushman Bharat 4- Novng)zo D- ST HIRd 4- 9N 2020
-“:;‘-‘-1;3-' A
Code — = he
(@) A-1,B-2,C-3,D-4  (b) A-4,B-3 C-2, D1 (@) A-1,B-2,C-3,D-4  (b) A-4,B-3,C-2,D-1
(¢) A-4,B2,C-1,D-3  (d) A-1, B-4, C-3, D-2 () A-4,8-2,C-1,D-3  (d) A1, B-4,C3,D-2
78. Which of the following Committee was not related 78. f=faled & O 9 IRy adwf e o
to the consolidation of Public Sector Banks? & TP | FrEfe 8 &7
(a) =Ry affy
(@) Narasimhan Committee TN
> b) Sheer Afafy
(b) Leeladhar Committee g (®)
(c) Rangarajan Committee - (€) RARTST At
(d) Nayak Committee (@) e afafa
79. Poverty estimation in India is carried out by - 79. WRT H TR BT afhord s gRT A S
= 2
(a) National Planning Commission ;_ (a) ISR IrAAT IR
3
(b) NITI Aayog’s Task Force (- (b) Y JmaTT BT FrRiT
(c) National Statistical Commission (c) I |iRkegahY JITART
(d) National Poverty Commission (d) wsiy ‘I_'\SIFS'H AT
80. Which of the following schemes was not launched 80. faferReaT # & PIA=A Ao 9 2015 % I
in 2015? o~ e BT M7
< (@) drgw Sha SNy G drrn

(a) PM Jeevan Jyoti Bima Yojana o
— .
(b) PM Suraksha Bima Yojana : (b))t e

(c) PM Fasal Bima Yojana (c) 1gH wmaEe AT I

(d) Atal Pension Yojana (d) sreer Yee IIoHAT

TR ionai o AR



81.

Primary deficit is measured by which of the 81. ypifie =reT & ﬁﬂ%ﬁﬁa ¥ g 59 erT
following? AT ST 87
a) o giftaa — v
(a) Revenue Receipts — Revenue Expenditure (@ =
(b) Capital Receipts — Interest Payment (b) %ﬁ oAt — TSt YT
(c) Fiscal Deficit — Interest Payment (¢) TSTPIEY HTeT — TS YT
(d) Fiscal Receipts — Interest Payment (d) IS Ut — &S YA
82. \Which of the following is/are example(s) of transfer 82. fye=fafRad § & I AT/ SRRV I
payments? T ITERYT 8 /87
1. Unemployment allowance 1. RS w=T
2. Payment of salary > AT P T
3. Social security payment R
4, 0ld 'vp : i B
. Old age pension :
4. JETIRI YA
Select the correct answer from the code given
A Ry Ty HE d A HE SR BT TIAT
below — Iﬁﬁ'ﬂ'l;’
-
Code - He —
(@) 1and4 (b) 2and 4 (a) 17G4 (b) 2UG 4
(c) 3and 4 (d) 1,3and 4 (c) 3Uda (d) 1,37d4
83. In which year, Indian Rupee was devalued twice 83. fhy g¥ WRAT BUY BT TP &l A8 H & dR
within a month? S ELEIE fopar Tar ar?
(a) 1990 (b) 1991 (@) 1990 (b) 1991
(€) 1992 (d) 1993 (c) 1992 (d) 1993
84. Which of the following curve represents the 84. fy=foRaa § W BIF—AT g BY BT S ATl
relationship between tax rates and government N <T@ 4 EEE BT o 22
revenue? '
(@) Lorenz curve (b) Philips curve (a) IR~ 9% (b) fopfersd g
(c) Laffer curve (d) Griffith curve (c) %R dH (d) firfeber o
85. Which of the following (Bank name — Headquarters) 85. fapAfeiRaa & @1 1 (6 &1 M — &)
is not correctly matched? EsEil ‘\gﬁ‘ﬁqﬁ &7 27
(a) Indian Bank — Chennai (a) =Raw ¥o — o=
(b) 1CICI Bank — Mumbai (b) arg Aamsang. & — g=
(c) Corporation Bank — Mangalore (c) HURIE dF — HTAR
(d) Canara Bank — Bengaluru (d) BRI 95 — TS
[23-A]-134101 Page 18 of 32
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86.

87.

88.

89.

90.

Which of the following is correctly matched?

(a) Statistics Day — 29 June

(b) World Anti-Corruption Day — 01 July

(¢) World Population Day — 09 December

(d) Panchayati Raj Day — 04 August
Recommendations of 15" Finance Commission are

for which of the following periods?

(a) 2019 -20t02023-24
(b) 2020 -21t02024-25
(c) 2021-22t02025-26
(d) 2022 -23to02026-27

Which of the following industry is not a service

sector industry?

(a) Insurance (b) Banking

(c) Petroleum refining (d) Education

Which of the following is not U.P. Govei‘nment

Budgetary plan priority during 2022-23?

(@) Two free LPG cylinders in a year

(b) Financial assistance under Kanya Sumangala
Scheme

(c) Higher study assistance to women

(d) Financial support to set up Borewells, Ponds

and Tubewells to small & marginalized farmers

Which of the following is not a component -
indicator of measuring Global Hunger Index Score?
(b) Under-nourishment

(a) Child stunting

(c) Child wasting (d) Infant mortality rate

86.

87.

88.

89.

90.

frfoaa § & @59 9 |9& gafea 87
(a) wiRaep! faaq — 299

(b) fIeg yerER AR Raw — 01 ST

(c) fazg ST feaw — 09 few=R

(d) Jamae o1 fedw — 04 3FRA

15d o smanT &7 RwiRer Fre=fafaa & 9
frg &ra & oy 7?

(a) 2019-20¥ 2023 -24

(b) 2020 -21 % 2024 -25

(c) 2021-222025~26

(d) 2022 - 239202627

fr=faRad § 9 s—ar Serr Jar &3 S
& ¥

(a) dr o (b) dfdT

() Ygiferas uRemes  (d) f3renm

fefafied # A P SR U0" WIR- B
2022-23 % oIErg URIfFEGar el 27

() o a9 # <1 gud 9 Raeisx

(b) &=g1 AT faxi HETIAT ArSTAr

(c) wafgema &1 S=a e gerdar

(d) A<t 4 ag $YH] DI IR, dleAd Tq
<ggde g faxia #ee

Maw @ gaHid R 1 AU > g

frfaRad § & 9—1 gaswie d8 T8l 87

(a) g3 T a7eq AT (b) 319 dryor

(d) fRrg gy =X

(c) 9raT aruery
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91.

92.

93.

94.

95.

96.

97.

Which district of India to have the first ‘Amrit

Sarovar’ completed at National level?

(a) varanasi, U.P. (b) Amravati,
Maharashtra

(¢) Amravati, Andhra  (d) Rampur, U.P.

Pradesh

Which among the following is author of the book
‘Tomb of Sand’ for which he/she was awarded
International Booker Prize — 20227

(@) Nirmal Verma (b) Dhananjay Verma

(c) Geetanjali Shree (d) Dan Brown

In which of the following countries, Prime Minister
Narendra Modi gave a call “Bharat Chalo, Bharat se
Judo”?

(a) Russia (b) Japan

(c) Australia (d) US.A.

What is the name of the digital platform that
Supreme Court of India has started to convey its
interim, stay and bail orders quickly?

(a) FASTER (b) MAXIMA

(c) MATLAB (d) PEGASUS

What is the theme of 8" International Day of
Yoga?

(@) Yoga for health

(b) Yoga for harmony & peace

(¢) Yoga for heart

(d) Yoga for humanity

Where is W.H.O. Global Centre for Traditional

Medicine going to be established in India?

(a) Jaipur (b) Delhi

(¢) Haridwar (d) Jamnagar

Jan Samarth Portal is related to which of the
following?

(@) PM Jan Arogya Yojana

(b) SATAT Scheme

(c) PM Vaya Vandana Yojana

(d) Credit Linked Govt. Schemes

91.

92.

93.

94,

95.

96.

97.

IRA & b9 R A AIE WR P Ugall 37
TR’ FAH IR T3 27

(a) IRTORE, S (b) FRIGT!, HERTS
(¢) SR, o Uaer(d) IFYR, S
FrfoRaa # & o9 i &ifp Jve’ 3 afar
g, e Ry gy @R -2022 9
g fasar T 27

(a) e i (b) g1 Al

(c) *aisredr =i (d) 39 sr=+
frforRea # 9 59 <o # gurrE s A
q 3@ AT o “9Rd =l R | Fer?

(@) w9
(e) sifvg:forar (d) Sgaa T IR

o9 Rfes o &1 ®1 99 2, R
TART ¥ 9Rd & Seadd OReld J 8e
IIRA, R 3R SHHEG el P @Re

(b) STU=

HUYYT Y6 T 87
(a) BRex (b) Hfae
(c) Hcals (d) wTE

3ed RIS AN feaw &1 g3 (@) @
7?

(a) ey B forg anT

(b) wfewyar vd wif & forg anT

(c) g7 & forg amr

(d) AFEgaT & forg AT

H el g fear o7 <& 87

(a) Uﬂl‘g“\fl (b) feooit

(c) eRgR (d) ImTTR

o9 auef uida fA=fofRaa ¥ 9 feaw wdftq
87 _

(@) FeT=EAY. S IR JISTAT

(b) {ad Ire=T

(c) wEm=H3T 99 dgAT Aol
(d) pfee foides TRHRT AT
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98.

99.

100.

101.

102.-

Which of the following (Classical Singer - Gharana)
is not correctly matched?

(@) Prabha Atre — Kirana

(b) Pt. Chhannulal Mishra — Patiala

(¢) Ustad Rashid Khan — Sahaswan

(d) Birju Maharaj — Kalka-Bindadin

Which of the Indian workers received ‘WHO Global

Health Leaders Award 2022’7

(a) ASHA Workers
(c) NDRF Workers

(b) POLIO Workers

(d) Covid-19 Health
Workers

Which Indian documentary film has received an

Oscar nomination in 2022?

(@) Minding the Gap (b) Forever Young

(¢) The Take (d) Writing with Fire

With reference to the Sexual Harassment of

Women at work place (Prevention, Prohibition &

Redressal) Act, 2015, which of the following

(Particulars — Section) is not correctly matched?

(a) Determination of compensation— 15

(b) Inquiry Report — 17

(¢) Cognizance of offence by courts — 27

(d) Power to remove difficulties — 30

Consider the following events and arrange them in

chronological order —

(n The Indecent Representation of Women
(Prohibition) Act

(1 Rights of Persons with Disabilities Act

() The Protection of Children from Sexual
Offences Act
(V) The Medical Termination of Pregnancy Act

Select the correct answer using the code given
below -

(@ 1,n,meiv (b) v, 1,101, & 1I

) mm,1, &I (d) v, 11,11 &1

98.

99.

100.

101.

102.

frefafea 4 9 oh—1 @y e —
ERTT) \E gAfera T8 87
(@) g1 313 — fvreT

(b) ©. Berrer fysm — ufearen

() IR Rl @ — \eaaH
(d) fIvo] BRI — Hrefp—fiard
offed arars 2022' wret garm 27

(a) 3T BT (b) grferar w4l
(€) TASIARUG. HH (d) Pifde-19 wReg
HAT

fee W gaifs @1 2022 F sl AHIeR
T g3 27

(@) #igfeT T (b) BRYER AT

() g (d) wisfeer fag wrw
AfgeTell B1 FRiwe w® dfe saieT (PR,
gfove vd fraren) siRifm, 2015 @ w@ad §,
Ffefaa & 4 a9 w1 (f@awer — grn) @

gafora =&l 27
(a) afegfel @1 FuRe — 15

(b) Sirgr RUrd — 17
(€) =TT} ERT IR HT G — 27
(d) ®feeE fFaror & wsfdg — 30

Frafoiaa gemll R far HIRn ok 5=

BIAHATTAR AR BT —

(1) afeer sl wuvr (wfeder) siRfm

(1) feeairos afdprR e

() F==T BT A oM & Heror IR
(V) T BT FRrfecaaa wam sifferm

W Ry T e ¥ a9 s g —

@ 1,0, mav (®) v, 1, man

©) un,mi1awv (d) v, 1, mai
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103. |n which of the following year, ‘The Protection of 103. ere  fEar ¥ gfger  wxeur IR
Women from Domestic Violence Act’ was passed? fop=rforRag & & fpa ad wiRa foar Tar?
(a) 2003 (b) 2005 (a) 2003 (b) 2005
(c) 2007 (d) 2009 (c) 2007 (d) 2009
104. Section-23 the Domestic Violence Act provides - 104. ey féar aftfram @1 eR—23 Sawen HIAT
(a) Protection of action taken in good faith 2= )
(b) Compensation orders (e) SIS & T AL BT A
(b) erforgfct smawr
(c) Custody orders (€) f¥Re ST
(d) Power of grant interim and exparte orders (d) arR¥ iR THuely ey o7 &Y i
105. What are the objectives of Pre-Conception and Pre- 105. 1904 % ‘iff—l‘rﬁ'ETFT 3R uj-l;mzr e dee
Natal Diagnostic Techniques Act, 1994? T & 9w B W ©7
(a) To prevent female foeticidé (@) T T @Y G HRAT
(b) To control the declining sex ratio in India (h_') e # fRa Wq-'ﬁ 31 fafe oo
(¢) Both (a) & (b) () (a) @IT (b) ST
(d) None of the above (d) SRIGT § & DI A8
106. How many years of punishment is there for the first 106. ifgReT gd R uywe—gg e dee
time offence of provisions prescribed in Section-23 e, 1994 B gR1—23 ¥ fafea sue=il &1
of Pre-Conception & Pre-Natal Diagnostic Ugell R Scoigd HRA W fpa ad @1 |l
Techniques Act of 1994? (<) BT graer 27
(a) Imprisonment of 3 years (@ 39§ @1 B i
(b) Imprisonment of 5 years (b) 5T P Bg
(c) Imprfsonment of 6 months (c) 698 T D
(d) Imprisonment of 1 year (d) 195 & Be
107. |n which year, ‘The Protection of Children from 107. “3ffiyep ORI | g1t xefor iR fea oy
Sexual Offences Act’ was passed? ¥ foar Tar?
(a) 2010 (b) 2011 (a) 2010 (b) 2011
(c) 2012 (d) 2013 ' (c) 2012 (d) 2013
108. Who is child under ‘The Protection of Children from 108. ‘3ifiep STURE A 9T &1 Gweror JRfFTH &
Sexual Offence Act’? " T e B 87
(E!) Before the A‘ge,oftls years (@) 159 @1 MY | FH
(b) Before the Age oftlﬁ years (b) 16 a9 I Sy ¥ BH
(c) Before the Age of 18 years (c) 18 a¥ &I MY | BH
(d) .Before the Age of 20 years (d) 20 Y B SR qJ B
[23-A]-134101 Page 22 of 32
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109. For the Medical Termination of Pregnancy (MTP)of  109. ;eres  Af¥eelf =1 ffecasa i
adult women, whose consent is mandatory? (@E8d) & foru frae veafy 3rfrart 27
(@) Only the woman concerned (@) Sqa TR afgar
(b) The woman and the father of the unborn (b) W 3R STy g5 BT f
(¢) The woman, her parents and the father of the
3 (¢) wfeer, @ AR aiv st g% @7
unborn frar _
(d) The woman and her In-Laws (d) w\iZar ik 39 TGRTS qTed
110. Atwhich place the pregnancy cannot be terminated 10. 1§ &1 Rifvcae waUT R, 1971
under the rule of Section-4 of the Medical HRT-4 & 99 & s frg o = i BT
Termination of Pregnancy Act 19717 THIGT 2 AT S wedr 27
(a) At hospital established by Government () TRPR ERT N AT )
(b) At hospital maintained by Government (b) IXPFR gRT NG 1 arer uv
(c) At the place identified by the committee (e) forer w* W few wfify grr Rifed
formed at district level )
(d) None of the above (d) G'Q'{iﬂﬂ' H U IS T8
111. Which is not true “about the ‘Indecent -~ 111. wfderaif BT IRMAAT gegforemRer (i)
Representation of Women (Pfohibition) Act'? T & IR F 77 Wy TEf B? .
(@) It was passed in 1986. (@) 7 1986 ¥ uiRe g
(b) Itis extended to the whole of India. (b) 7% ‘I:' IRT 99 9% SI08 2
C) It shall into f on such date, as th 5 \ F '
(¢) It sha come into force on s as the () e & . o
Central Government may, by its Gazette AT IS GTER‘:EFIT ¥ 3_\61 ?ﬂﬂ'@fﬁﬁ
Notification, appoint. Y | : -
(d) All of the above (d) IuRId
112. Under the ‘Indecent Representation of Women  112. & Rre gegfiexer (Friw) ififes, 1986
(Prohibition) Act 1986’, how much punishment is & ¢
I TR §R Y g & e
prescribed for second conviction? ferg
(@) Imprisonment upto 1 years and fine upto- TUS B [ 87
Y1000 (@) 179§ T P BT 3R 10003 TF AT
(b) Imprisonment upto 2 years and fine upto
2000 (b) za&ﬁmaﬂa‘haﬁ?zooo?wmﬁ.
(€) Imprisonment upto 3 years and fine upto (¢) 3a¥ 9% &1 &g 3R 3000% TF quh'[
T 3000 .
d
(d) Imprisonment for not less than 6 months to 5 @ P9 & 54 6 e W s A @ #3 3R
years and fine not less than ¥ 10,000 to %9 § HH 10,0003 H 1,00,000% TH SEAAT
1,00,000 ‘
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113.

114.

115.

116.

117.

118.

119.

(@) Comptroller

Who can establish Old Age Home according to the
Law?

(a) State Government (b) Central Government

(c) Both (a) and (b) (d) None of the-above

Who among the following is liable for maintenance
under the ‘Maintenance & Welfare of Parents and
Senior Citizens Act, 2007°?

(@) Son | (b) Son and Grandson

(c) Son and Daughter  (d) All of the above

When was the Charitable Endowment Act passed?

(a) 1890 (b) 1990

(c) 1880 (d) -1980

The accounts of the state fund for persons with
disabilities shall be audited by the -

(b) Auditor-General

(c) Both (a) & (b) (d) None of the above

When did the Dowry Prohibition Act, 1961 came
into force?
(a) 1% April, 1961 (b) 11 March, 1961

(c) 1%t July, 1961 (d) 23" April, 1961

What is the maximum punishment prescribed for
demanding dowry under Section-4 of the ‘Dowry
Prohibition Act, 1961'?

(b) 3 years
Imprisonment

(a) 2years
Imprisonment
(€) 1 year Imprisonment (d) 7 years
Imprisonment
How many types of disabilities were included in the
Act prior to the ‘Rights of Persons with Disabilities
Act, 2016'?
(@ 7 (b) 8

(c) 9 (d) 10

113.

R & oNER @M @B WAl B IR
AT 27

(a) YT ERBR (b) g TRHR
(c) T (a) T (b) d) s # Dl
4. ar—foar vd IR ArRe ¥ROT 9T U4
<+ oo AR, 2007 B el Frefoe A
= ¥ @ 9= 9N B fory STRer ©7
(a) ge1 (b) ¥eT T grar
@ ¥e1 vd 91 (d) Suar a9l
: (a) 1890 (b) 1990
<~ (c) 1880 (d) 1980

119.

(a) 13, 1961

- feegi (RepetioT A1) o @ forg woa fAf & @i

&7 siffee foras grT fbar s

(a) o=@ (b) FETeIE URIET®
(¢) Ff (a) TG (b) (d) SR 4 9 B
T2

. g7 iy T, 1961 69 W T §31T?

(b) 11914, 1961

(€) 1S, 1961 (d) 23 37iie, 1961

. =t Py AT, 1961 B URT—4H I

TS J R i@ e e &1 ST Febll
27

(a) 299 &7 D5
(c) 199 & ®E

(b) 399 P Bg
(d) 799 & B

feegio ofeR e, 2016 & qH B
sRfE § o geR @ fReaia] it
off?
(@ 7 (b) 8

(c) 9 (d) 10
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120. In which of the following judgements Hon’ble

121.

122.

Supreme Court directed the Bar Council of India to
ensure compliance of the Section-32 of ‘Right of
Persons with Disabilities Act, 2016’ in L-EIW colleges?
(@) vikas Kumar V/s U.P.5.C. 2021
(b) Vidhi H. Kataria & others V/s State of Gujarat
& others 2019 ' e
(¢) Disabled rights group & others V/s Union pfi
India & others 2018

(d) Rajive Raturi V/s Union of India & others 2017
Which of the following pairs (International
Institutions — Place) is not correctly matched?

(@) UNESCO - Paris .
(b) 1.L.O. - Geneva f.ig
(€) Asian Infrastructure Investment Bank — Manila,.

-
(d) International Criminal Court ~ The Hague s

Match list — I with list — Il and choose the correct
answer using the code given below —
List—1
(Orbit)
(A) Polar Earth Orbit
(B) Parking Orbit
(C) Sun Synchronous Orbit
(D) Geo Synchronous Orbit
List—1l

I
il |
i e g

al
|
/

1041

(Distance above the Equator)
(1) 700 - 800 km

(2) 35,800 km

(3) 500 — 2000 km

(4) 35,785 km

Code -

(@ (A)-3, (B)-4, (C)-1, (D)-2
(b) (A)-2, (B)-3, (C)-4, (D)-1

A
dashe

(c) (A)-4, (B)-1, (C)-3, (D)-2
(d) (A)-3, (B)-4, (C)-2, (D)-1

120. 53 % T ol o Arirr watenr <o S

121,

122,

TR IR HRRIT B R sfier
AFAfTH, 2016' B URI-32 FT srqETEE RAfY
wETfdererdl § gRfed e 1 ey fear

() fIBTT HAR 9919 6 @ WaT AR 2021

(b) fafer v, weiRar 9 sFa 9 o W=
g 39 2019

(©) =i PR W 7 o/ 99 wRT Wy
T 3T 2018

(d) ST ¥ 9 IR HY g 7 2017

Frefafed g & & sF—ar  (raisa
HIST — 1) | gafera 781 27

(@) vt — Re
(b)ﬁﬁmmw-ﬁﬁm

(©) TRRIE sravRe=mT fFAer §o — war

(d) RIS TR =y — © 2

A= B I T AR AR &k R
fS% T e 1 swHE B T IR A —
L — |
(em)
(A) T gt et
(B) UTfbT aerm
(C) & Rispr<y e
(D) foraT Rispr=g e
eI
(-7 e ¥ g)
(1) 700 - 800 fa5 4.
(2) 35,800 f&5. 4.
(3) 500 — 2000 #.
(4) 35,785 fa5. .
EE\E =l
(a) (A)-3, (B)-4, (C)-1, (D)-2
(b) (A)-2, (B)-3, (C)-4, (D)-1
(©) (A)-4, (B)-1, (C)-3, (D)2
(d) (A)-3, (B)-4, (C)-2, (D)-1
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123.

124.

125.

Who among the following is currently Vice —
President of International Court of Justice?

(a) Joan E. Donoghue  (b) Kirill Gevorgian

(c) Dalveer Bhandari  (d) Ronny Abraham
India’s first indigenously developed Remote

Sensing Satellite was launched through -

(a) Cape Kennedy (b) Baikonur
(e) French Guiana (d) Sriharikota
Match list — | with list — 1l and select the correct

answer from the code given below —

List—1 List—11
(Military Exercise) (Countries involved)
(A) DUSTLIN (1) India — Oman
(B) Eastern Bridge (2) India — Seychelles
(C) Khanjar (3) India — Uzbekistan
(D) LAMITIYE (4) India — Kyrgyzstan
Code -

(a) (A)-3, (B)-4,(C)-1, (D)-2
(b) (A)-3, (B)-1, (C)-4, (D)-2
(c) (A)-4, (B)-3,(C)-1, (D)-2
(d) (A)-1, (B)-2,(C)-3, (D)4

123.

124,

125.

Preffed § § PN RIS e B
I SUTETeT €7
(@) T €. ey (o) fFRa T

(c) TR HUSH (d) 3= 3rETEH
TRa T gger wew ¥ faefia Ree |RiT

Syre fras wregd ¥ veftd fear mar?
(a) BY B! (b) STEHFR

(c) wa AT (d) sheRerer

1 T A1 & gAfera BT AR A 2y
g e BT AN BRI Y FE SR AT —

T TN

@ eraTE) (@nfaer <)
(A) S (1) TRA—3NHTH
(B) $¥c Aot (2) MR-
(C) TSR (3) TRA—SSd PRI
(D) efafag (4) TRG— BT
a&? o

(@) (A)-3, (B)-4, (C)-1, (D)-2
(b) (A)-3, (B)-1, (C)-4, (D)-2
(€) (A)-4, (B)-3, (C)-1, (D)-2
(d) (A)-1, (B)-2, (C)-3, (D)-4

126. Chandrayaan-2 rover, an electric power generation 126. FggE—2 AR, S USHE AHE D faga
system, named ‘Pragyan’, is which of the following? Saares women 8, P § & 27
(a) Six —wheeled robotic vehicle (a) & wfeal arar JEifed are
(b) Four —wheeled robotic vehicle (b) =R ufeal v igifed are
() Eight —wheeled robotic vehicle: (c) 2me ufRdl aren &I arsd
(d) Ten —wheeled robotic vehicle (d) = ufzdl grerr Jdiicd ared

- 127. |dentify the satellite(s) which was/were 127. 39 SUUE /SUUE B TEAN PN ST gt H

unsuccessful in launching - e V&l Bl /8 —
(1) INRSS — 1A (1) STE.TAIRTATH. — 1T
(2) INRSS — 1B (2) METAIRGETH. — 1
(3) INRSS - 1G (3) 3. TAARTALH. — 157
(4) INRSS — 1H (4) 3T TANRYETH. — 17T
The correct answer is - |E S & — N
(@ 1 (b) 1&2 @ 1 (b) 192
(c) 1,2&3 (d) 4 () 1,293 (d) 4
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128.

129.

130.

131.

Which institution released the report entitled,
‘suffering in silence’ to highlight the plight of Niger
during Covid—19 pandemic period?

(a) World Bank (b) I.M.F.

(c) UNICEF (d) UNHCR

The proper relation between upli'nk frequency and
low-link frequency in satellite communication is -
(a) Always greater

(b) Always lower

(c) Always equal

(d) May be greater or lower

Which is not true with 5G technology of mobile

communication?

(1) Data downloading is faster.

(2) Driver less cars are possible.

(3) Domestic appliances can be controlled with
mobile phone.

(4) The exisfing cell phone can be used.

The correct answer is -

(@) 1and3 (b) 1,2and3

(c) 2and 3 r(d) 4

Which is not required in a communication system?

(1) Transmitter
(2) Receiver
(3) Antenna
(4) Internet

The correct answer is -
(@ 1&2
(e) 3

(b) 28&3
(d) 4

128. pIfds—19 WETIN & WHY GHRT 7 WIgeRT

120.

130.

131.

e ¥ Tz B g B wiareh Rard
R wieeT S W Y o

(a) faeg ¥ (b) RIS 72T By
() Jfaw (d) uA.ve AT,

SUUE AR H $UR W off W@ Gt 3R a9g
ST A Wb A AR B G
BT & —

(a) 939 9 Bl 2

(b) 39 BIET B &
(c) ¥ag |9 By &

(d) g1 a1 BT B Wl 2

A9 HAR Y sofl MEifet B AR F @y

T TE 57

(1) STET STScirs FHRAT <A BT 2 |

(2) TFeTH ART PR TG F |

(3) B, SUBRV BT HEwA B F Frifa
foar s \war

(4) AISTET Al BT BT SYANT &1 Febell 2 |

HEl TR § —

(@) 13R3 (b) 1,23k 3
() 23R 3 (d) 4

AR IR H FIT YD 8T 27
(1) grEHeR

(2) Refraz

(3) gfe=

(4) ST E

E SR B —

(@ 179 2 (b) 274 3
(e) 3

(d) 4
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132.

133.

134.

135.

136.

137.

138.

Which s
communication?
(a) Higher Bandwidth
(b) Higher Speed
(¢) No electric noise

not an advantage of optical

(d) No magnetic noise
Which
system?
(a) Alpha - Centauri
(c) Eta-—Carinea

star is/are nearest to our solar

(b) Proxima — Centauri
(d) Affair

Match the following nuclear plants with their
location and give correct answer from the code
given below —

(A) Kalapakkam (1) Gujarat

(B) Narora (2) Maharashtra

(C) Tarapur (3) U.P.

(D) Kakrapara (4) Tamil Nadu

Code -

(@) (A)-1, (B)-2, (C)-3, (D)-4

(b) (A)-2, (B)-3, (C)-1, (D)-4

(c) (A)-4,(B)-3,(C)-2, (D)-1

(d) (A)-3, (B)-2, (C)-4, (D)-1

Height of Geostationary Satellite above the earth
surface in equatorial orbit is approximately -

(a) 32,000 km (b) 36,000 km

(c) 38,000 km (d) 24,000 km

‘MODEM’ is used for -

(a) A/D conversion only

(b) D/A conversion only

(c) Both A/D & D/A conversions

(d) None of the above

Which is not a solid state device?
(a) FET (b) LED
(c) CRT (d) Tunnel diode

What is not true about hologram?
(a) Itis light source.

(b) itisa 3-D picture.

(c) It requires no screen.

(d) It is dbtained by laser.

132.

133.

134.

135.

YT HER BT FT AT A8 87
(a) sy Jus e

(b) aifdyes R

(c) ®$ faga @R =&l

(d) P FEH AR TE

P A/A dRT BAR R ASH B HEd
LD B°

() s — S (b) T — g
(c) ger — SRAT (d) B
frafaRaa TR w3 B ST RAE 9

e BT R M Ry 17 e & 9§ |
TR S —

(A) PATHH (1) ORI
(B) TRIRT (2) TERTSS
(C) IRTYR (3) S

(D) BIHITIRT (4) aferTTg
El"g'\e =

(a) (A)-1, (B)-2,(C)-3, (D)-4
(b) (A)-2, (B)-3,(C)-1, (D)-4
(c) (A)-4, (B)-3, (C)-2, (D)-1
(d) (A)-3, (B)-2, (C)-4, (D)-1
gl B GIE W FR YR STWE B

| yEeRdE aRfY F Sars T B 8 -

- 136.

137.

138.

(a) 32,000 f&.H1. (b) 36,000 f5.H7.
(c) 38,000 fb. . (d) 24,000 f&.#1.
AISH BT SUATT BT & —

(a) f4% v/ 95 3

(b) % € /T ggemd |

(¢) B T/ 7 /T ggamdl §

(d) SIRYad & & BIg T8

B A S IaveT Yfad TE 87

(a) THEaL (b) TAS SN

(c) A3 (d) TeT SIS
BRI @ IR H 4T §ed ol 27

(a) I8 & UHII ST B |

(b) T TH M- A B

() 3H WS &Y JATAYHaAT T8l © |

(d) g7 JoR 9 B g 2|
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139.

140.

141.

142.

143.

144.

Modern TV screen is made of -

(@) Liquid Crystal

(b) Light Emitting Diode

(e) Thin Film Transistor

(d) Cathode Ray Tube

As the height of satellite above earth surface

increases, the time taken to complete the orbit -

(@) Remains same (b) Decreases

(d) May increase or
decrease

(€) Increases

Electric press, heater, electric kettle etc. are made

of which element?
(@) Nichrome

(¢) Constantine

(b) Carbon

(d) German Silver

The concept of environment is based on which of
the following?

1. Environmental Degradation

2. Dimensions of totality of environment

3. Shift in the interest

4. Globality

Correct answer is -

(a) only1 (b) Only 2
(c) 2,3and 4 (d) 1and 2

Match list — | with list — Il and select the correct
answer using the code given below the lists —
List -1 List—1I
(Characteristics) (Particles)

(A) Zero Mass
(B) Fractional charge

(1) Positron
(2) Neutrino
(3) Quark

(4) Photon

(C) Fractional spin
(D) Integral spin
Code-

(@) A-2,B-3,C-1,D-4 (b) A-3, B-2, C-4, D-1

(¢) A-2,B-3,C-4,D-1  (d) A-3,B-2, C-1, D-4
Which of the follbwing viruses was assessed to be
responsible for highly infectious disease of small
pox?

(a) Adenovirus (b) Variola virus

(¢) Aichi virus (d) Coxsackie virus

139.

140.

141.

142.

143.

144.

Imgfes A WP 9+ @ —

@) e fhea 1

(b) YT STHS 1ol SRS B

(€) geell R arer giforex @

(@) deire f=or Fforar

gl B FIE W SR SUUE & AR g7 W
BET BT QR B H o4 qrell FHT —

(@) §_Tex Ear ® (b) TeaT 2
(c) ggar & (d) g F&ar a1 ue
e B

fae & s @), Sz, fega @ e anfy
fba @ (Teiire) & o+ 2y 27

(a) AzPH (b) PHrEH

(¢) B TerET (d) S99 Ryeay
IAERYT &1 JguRen F=fofag § 9 fhg w
iR et &7

1. IrAmEyoy rgEeT

2. 9ITER0T & FHA ATITH TR

3. % ¥ ggelg

4. If¥gear

el SR & —

(a) PBaer1 (b) Paer2

(c) 2,334 (d) 130R2

- 1B - 11 3 AT SINY der g

@ = Ry T e F FE SR gAY —

T~ & -n
(fergroam) (@)
(A) 3 T (1) Wi
(8) =TT =Tt (2) =g
(C) M= Ru= (3) T@ET®H
(D) ERrer Ry (4) B

EE"E —

(@ A-2,B-3,C-1,D-4 (b) A-3,B-2,C-4,D-1

(¢) A-2,B-3,C-4,D-1  (d) A-3,B-2,C-1,D-4
FEfafeg & 9 a9 — faury srcaferes
THTHH I gD B o1y RIHER FHST Sirdr
oqT?

(a)uﬁrf&mﬂ Q& (b) IRaMe fawry
(C)am—zﬁfaﬂq (d) ferrdast farsrop
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145.

146.

147.

148.

149.

150.

What is the name of the Aerospace cbmpany
owned by billionaire Jeff Bezos?

(b) Space-X

(d) Dragon

Which international organization has launched

(a) Blue Origin
(c) Amazonia

“Covid-19 Vaccine Market Dash Board”?

(a) world Bank (b) 1.M.F.
(¢) U.N.I.CE.F. (d) F.A.O.
“AlIPOIP Grant Programme” has been launched by

Australia in partnership with which of the following

countries?
(a) India (b) Jamaica
(c) Bolivia (d) Nicaragua

“Brucellosis’ is a disease caused by -
(@) Virus (b) Bacteria
(c) Protozoa (d) Fungus

Indian robot namely ‘Vyommitra’ was developed

by -

(a) C-DAC, Pune (b) 1.S.R.O.
(c) T.LF.R. (d) D.R.D.O.
Which Indian Institution has developed ‘Intensive

Care Unit’ (ICU) grade ventilator under the name of
‘Project Praana’?
(@) AlMS, Delhi (b) T, Kharagpur

(c) AlIMS, Patna (d) 1ISC, Bengaluru

145.

146.

147.

148.

149.

150.

EREUf S IS @ @I dTell TR
FHW) BT T M 27

(a) =g SRR (b) WrE—Tad

(c) srSII=T (d) ST

fFg RIS @ # “®Ifds—19 dRiA
e <9 I Io far 87

(a) fazg & (b) SRS {&T I

(©) IFrw (d) THTSM
siteeforar g Fr=iforRea & & fw <o & 9

e #  geTSsngdralieagdl  Ira
SR g fHar T &7

(@) ¥R (b) STHeT

(¢) arefifaaT (d) FrepREL3T
AR HE A BT BRB & —

(a) oy (b) Ty

(c) Hiersis (d) HaP

AT ARE TR Jae fhae g fdsiid
T Tar?

(@) 3%, gO (b) SERT (37TE.THIMR.
3
() )37 .UF.IMR. (d) SIS

o7 AISTAT & Sfia b HIRAIG G gRT
<R PR ghie @rE W g) TS diterer
feRa fear T 87

(a) 7w, faeeh (b) 3.3 Y., WSTYR
(c) T=g, geAr (d) méans‘mvs%
dTge
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Lk DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.

2022 CODE : FOXTROT -
SERIES

SUBJECT : GENERAL KNOWLEDGE

Time : 2 Hours Max. Marks : 150
Write your Roll Number In numbers

—_—
in the box In words

To mark Answer use Black Ball-point pen only.

Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original Answer-Sheet
to the Invigilator.

IMPORTANT INSTRUCTIONS

1. Answer all questions. All questions carry equal marks.

2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the Answer-Sheet,
otherwise the Answer-Sheet will not be evaluated and candidate will be solely responsible for it.

3. This Test Booklet contains 150 questions. Each question has four (4) options which are given below the questions.
Only one option is correct out of four. You are required to darken the circle corresponding to the alternative which you
consider to be the correct or most appropriate answer in the Answer-Sheet by Black Ball-Point Pen.

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough work given
in the last one page of Test Booklet.

5. In this question booklet all questions are printed in both English and Hindi languages. In case of any ambiguity in the
question, the English version of the question shall prevail.

6. If you happen to find that the Booklet issued to you does not have all the pages prOperly printed or it has any other
deficiency, then you need to approach the Invigilator to get another Test Booklet of same Series and Code.

7. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER
SHEET.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
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(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.
(ii1) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
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1. Which one of the following principles is Jaid down 1. =faReg § § B T Rieiq RISTST BT Iy

in the case of Rajesh Kant Roy vs. Shanti Debi? I Wi & 5 e § gigifeg 83T 87
(a) Principles of part Performance (@) wifires 9T BT Rigig
(b) Principles of Lis Pendens (b) Sifed are &y Rgfa

-(€) Principles of Vested interest ' © fiRkg g &7 Rgia
(d) Principles of Contingent interest @) T Ry T Rigiq

2. Within the mMeaning of Section 51 of TP Act, the 2wl srgwor AR 3 Ry 51, & aef ¥

transferee - =R —
(a) is not entitled to the value of improvements @) sfigfy @ T BT ARABRY 7

(b) s entitled to the valye of improvements (b) gl o T BT B &
(c) :::;a:r;‘ofgs:zsgal entitlement to the value of (©) aﬁ?’%’ & T BT T BT 8

(@) 9 & #¢ 7g

(d) None of the above
3. When transfer of property by the owner s 3. 59 9wy DI T wERy P IR DI
dissented under Section 35 of Transfer of Property, fargwrg &R, qr fARTYT IR BT yfyare iy

under which circumstances compensation should STRYT 3SRy B YURT 35 P 3T, far=

“be given to disappointed transferee? t‘ﬁﬁ?ﬁ@r 1 faar SITAT fle%Q?

(1) Where the transfer is gratuitous and the (1) STE &Y 3o TIAfRs 2 ai ST<R&
transferor has, before the election, died or | Fafe fy sy | Uger R T 7 oar
otherwise become incapable of making a fresh RELE SRR B B ferg STAT e
transfer. '&'t‘WT .%'

(2) Where the transfer is gratuitous and the (2) ST&T @1 SR 3”3!”? 2R 3R IRB
transferor is, before the election, alive. ata HT REC] Siifae gl '

(3) When the transfer is for consideration and the (3) ST&T s7=vor afiweref @ siv RSP frgfes
transferor has, before the election died. ﬁfq EIEE:] UES HY ar %]

(4) When the transfer is for consideration and the (4) STEf STIRD Hﬁm & 3% HIRD ﬁﬂfﬂ?[

BT S < geer SR =l

transferor is, before the election, alive,

Select the correct answer -
(@) 1,2,3and4 (b) Only2,3,4 @ 1,2, 37 4 (®) Fom 43,4
(€) Only1,2,3 (d) Only1,3,4 © a7 1,2,3 @ Taet 1,3,4
4. Match list-1 with fist-i) and select the correct answer 4 gA— Py L1 FHfera HIRTg qorr et
using the code given below — & T Ry Wy @ 9 HE IR Y g —
List—1 T
(A) Doctrine of Subrogation (A) URJITYAT &7 Rigig
(B) Doctrine of Consideration (B) F¥HT Pr Rrefa
(C) Doctrine of Accumulation (C) ¥ag &1 Rrgra
(D) Doctrine of Lijs pendens (D) cifege CIC (T%ﬂ:r fT@?T) &1 Rigia
List ~1 TN
(1) Section 17 TpA (1) &IRT 17 \RIRY sievor aifdfygs
(2) Section 52 TPA : (2) 9RT 52 A9RY SfeRvT SRy
(3) Section 61 TpA (3) &IRT 61 wafey SR Srfram
(4) Section 92 TpA (4) &IRT 92 RTFGRY SfeRor sty
Code - B -

(@ A-a, B-3, C-1, D-2 (b) A-4, B-3, C-2, D1
(e) A-1, B-2, C-3, D4 (d) A-3, B-2, C-1, D-4

QLTI

(@ A-4,B-3,c-1, D2 (b) A-4,B-3,c2,p-1
(c) A-1,B-2, C-3, D-4 (d) A-3,B-2, C-1, D-4
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5. Legal terminology ‘Res Nullius’ is used for -
(@) property of certain person
(b) ownerless property
(€) property of corporation
(d) None of the above

6.° Which one of the following is not the essential
element of sale?
(a) Seller and buyer
(b) Without consideration
(€) Transfer of ownership
(d) None of the above

7. Match list-1 with list-1l and select the correct answer
using the code given below the lists —

List—I List—ll
(A) Sale (1) Section 21
(B) Marshalling (2) Section 122
(C) Gift (3) Section 54
(D) Contingent interest  (4) Section 81
Code - 4

(a) A-1,B-2,C-3;D-4
(c) A:1,B-4,C-3,D-2

(b) A-4,B-3,C-2,D-1
(d) A-3,B-4,C-2,D-1

8. Under which of the following conditions, Section 12
of the Transfer of Property Act, 1882 is not
applicable?

(@) Where the transfer is by the way of Lease.

(b) Where the transfer is by the way of exchange.
(€) Where the transfer is by the way of gift.

(d) Where the transfer is by the way of sale.

9. Which of the following instruments have been
excluded by the application of Section 137 of the
Transfer of Property Act, 1882?

Select the correct answer using the code given
below -

(1) Stocks

(2) Shares

(3) Debentures

Code -

(a) All1,2,and3 (b) Only 1and 2

(c) Only2and3 (d) Only1and3

10.  Which one of the following Section of Transfer of
Property Act relates to ‘oral transfer’?

(a) Section5 (b) Section 7
(c) Section 8 (d) Section9

5 faftre wrearaelt Yo Aferw uge @ oY &—
(@) FRea afd & v & g
(b) wWriE™ wwfr & forg
(c) i & gl & frw
(d) SWRIaT & | B T8
6. =1 # 9§ ®1F w1 Ay &1 TF sIvad qea
TEl 87
(a) fashar v war
(b) &1 ufdwer
(¢) w@nfiq srafRa wwar
(d) SRIFT & q DIg 78

T - - d g X g gt 9

- B BT YANT HIA BT & SR BT o0 B —

- T
(A) fasm (1) &TRT 21
(B) &9 g1 (2) &IRT 122
(C) & (3) &IRT 54
(D) wHIE & (4) ITRT 81
‘[-:[2'\3 T

(@) A-1,B-2,C-3,0-4 (b) A-4,B-3,C-2, D-1
(¢) A-1,B-4,C-3,D-2  (d) A-3,B-4,C-2,D-1
8. wwfRy smvor sififam, 1882 @ awr 12,
fFrefaRed § & frg o= o =81 8h 27
(a) STET SROT 9Se GINT B © |
(b) STET r=aror faffma gy gam 2
(€) STET IF=IROT T T 53 © |
(d) STEf SR fasy g1 8o ¥

9. Wy ar=awur IrfSfgH, 1882 &7 oIRT 137 &
orL B9 W A=fafag § 9 fhw uR—awfy
BT I8 ET AT 27
A Ry MU gE | 98 S @1 gl —

(1) i
(2) srer
(3) EorTH
avzc,l'__

(@ 1,23k 3 3 BT (b) BaaT 1 X 2 BY
(€) ®aeT 2 3R 3 BT (d) BaaT 1 3R 3 BT
10. wwafRy sraRoT Siftifaam @t B < aRT Hifas
IR | FHERT 27

(@) g1 5
(c) o7 8

(b) a7 7
(d) &I=T 9
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11.

12.

13.

Match list-1 with list-1l and select the correct answer
using the code given below the lists —
List-1 List-ll

(A) Holding over (1) Mortgage

(B) Universal donee (2) Gift
(C) Redemption (3) Lease
(D) Purchases (4) Sale

Code -
(a) A-3,B-2,C-1,D-4  (b) A-2,B-3,C-4,D-1

(c) A-4,B-1,C-2,D-3 (d) A-1,B-4,C-3,D-2

Match list-I with list-1l and select the correct answer
using the code given below the lists —

List=I
(A) Part performance
(B) Conditional Transfer
(C) Appointment of receiver
(D) Implied contracts by mortgagor

List-11
(1) Section 65 TPA
(2) Section S3A TPA
(3) Section 69A TPA
(4) Section 25 TPA
Code -
(@) A-2,B-3,C-4,D-1
(c) A-2,B-1,C-3,D-4

(b) A-3,B-4,C-2,D-1
(d) A-2,B-4,C-3,D-1

Which of the following pair is- not correctly
matched?

(a) What may be transferred - Section 6 of TPA

(b) Oral transfer - Section 9 of TPA

(c) Vested interest - Section 21 of TPA

(d) Joint transfer for consideration - Section 45 of

TPA

11.

12.

13.

-1 BT GA-1 § GATT BTG = G
& W Ry T B B FEEd ¥ GE S

gﬁ-q a

a1 gl
(A) JTfeRIRoT (1) I=TH
(B) T IMETAT (2) &=
(C) Hra (3) ueer
(D) shall (4) fasma
o —

(a) A-3,B-2,C-1,D-4 (b) A-2,B-3,C-4,D-1

(c) A-4,B-1,C-2,0-3  (d) A-1,B-4,C-3,D-2

-1 BT -1 gAfera BTG qem gfrat

% 99 Ry ¢ g #§ 9 98 S gy —
-

(A) HIRiE gTer

(B) I 3IRTT

(c) RefreR @1 fFgfaa

(D) S5 al g1 faanfe |fer
a1l

(1) gRT 65 Ry SfaRer A=A

(2) €T 53A HHART SFeROT SARIH

(3) €IRT 69A HHRT 3fcRor. if&faw

(4) SIRT 25 THRT RO Afe=aH

ﬂ-‘é\'a‘ —

(a) A-2,B-3,C-4,D-1  (b) A-3,B-4,C-2,D-1

(¢) A-2,B-1,C-3,D-4 (d) A-2,B-4,C3,D-1

fr=faRad ® & 19 91 g |E T 4 gAferd

&l 87

(@) T =R fbar ST |HI — IRT 6 FHRT
IreRoT IR

(b) Hifg®d IR — HURT 9 HHRT IT<ROT
arfSfras _

(c) fAfgg @@l — o= 21 FWRT ROl
st '

(d) yfdperel WgaRT SROT — ©RT 45 WHRT
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14.

15.

16.

17.

[(a) Atleast one

Match list-l with list-Il and select the correct answer
using the code given below the lists —
List—I
(A) Fraudulent transfer
(B) Election when necessary
(C) Rule against perpetuity
(D) Conditional transfer
List—I1
(1) Section 14 TPA
(2) Section 35 TPA
(3) Section 25 TPA
(4) Section 53 TPA
Code -
(a) A-2,B-4,C-1,D-3
(c) A-4,B-2,C-3,D-1

(b) A-4,B-2,C-1,D-3
(d) A-1,B-2,C-3,D-4
Assertion (A): Transfer in perpetuity is allowed for
the benefit of public.
Reason (R): Welfare of public at large is above the
welfare of individual.

(@) A & R both are true and R is, the correct
explanation of A

(b) A & R both are true but R is not the correct
explanation of A

(€) Aistrue but R is false

(d) Ristrue but A'is false

Which one of the following Section of the Indian
Evidence Act, 1872 is related with the ‘Presumption
as to electronic agreements’?

(b) Section 85C
(d) Section 85A

(a) Section 81A
(¢) Section 88A
Under the Indian Evidence Act, 1872 how many
witness are required for the proof of any fact?

(b) At least two

(c) At least five (d) Not specified

14.

15.

16.

17.

G-I BT G-I ¥ gafera BTG qer Rt

& i AT T e | W SR B g —
A

(A) HIEYY] 3R]

(B) frafe= ®a sravas &

(C) Tmregaar & favg fFras

(D) A SFIROT
i

(1) &RT 14 | SieRoT SiffeRE

(2) gRT 35 FHfRY Siavor ifdfgw

(3) &RT 25 HfRY SfeRoT ¥R

(4) &RT 53 WY SfAROT iR

@ —

(@) A-2,B-4,C-1,D-3  (b) A-4,B-2, C-1,D-3

(¢) A-4,B-2,C3,D-1  (d) A-1,B-2,C-3,D-4

HAMHAT (A): F & GRS B v wwafis

3TN @ AT B |-
BRYT (R): &€ UHM R ST 6T HeurT aafdd
H SR 2

(@) A 3R R Tl e & SR R, A @7 WEY e
g

(b)AaﬁQRaﬁHﬁ%éﬁﬁaAﬁﬁﬁ
T e

(¢) A U 2 TG R INH B

(d) R U & W A 3 &

IR e S, 1872 @ Prefeae
RG2S L T ot i r‘f
SUIRT § AR 8?

(@) gRT 81A (b) &IRT 85C

(c) a1 88A (d) &RT 85A

IR Ay e, 1872 & dgd fbdl a2
@ YHIOT BT AT B & fore fbasy Tarat a
AMETIHAT Bl 27
(@ 9 9 B9 TP
() $9 9 &9 Ui

(b) B9 W PH |
(d) Ffde &
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18.

19.

20.

Match list-1 with list-Il and select the correct answer
using the code given below the lists —
List—1
(A) Electronic Records
(B) Opinion as to digital signature
(C) Proof as to digital signature
(D) Presumption as to digital meséages
List-1l
(1) Section 47A Indian Evidence Act
(2) Section 88A Indian Evidence Act
(3) Section 22A Indian Evidence Act
(4) Section 67A Indian Evidence Act
Code -
(a) A-4,B-3,C-2,D-1 (b) A-3,B-1,C-2,D-4
(c) A-3,B-1,C-4,D-2  (d) A-4,B-1,C-2,D-3
Match list-1 with list-Il and select the correct answer
using the code given below the lists —
List-l
(A) Section 45 of the Indian Evidence Act
(B) Section 85 of the Indian Evidence Act
(C) Section 45A of the Indian Evidence Act
(D) Section 23 of the Indian Evidence Act
List-Il .
(1) Opinion of Examiner on Electronic Evidence
(2) Admission in Civil cases when relevant
(3) Presumption as to Power of Attorney
(4) Expert opinion
Code -

(a) A-4,B-3,C-1,D-2 (b) A-1,B-3,C-4,D-2

(c) A-4,B-3,C-2,D-1  (d) A-1,B-2,C-3,D4

Which of the following is not correctly matched?

(@) Matrimonial communication - Section 122
Indian Evidence Act

(b) Confidential communication with Legal
Advisors - Section 127 Indian Evidence Act

(c) Official communication - Section 124 Indian
Evidence Act

(d) Professional communication - Sectibn 126

Indian Evidence Act

18. -1 3T -l ﬁﬁﬁ%ﬁﬂﬁmmﬁ%ﬁr

19.

20.

& i fag Ty
BHIfTe—

LGl
NESEHIREESSIES
(8) feofied BRER W) 1™
(C) fSSiice BiEeR &1 |dd
(D) fellee w9l & IR W SR
—i
(1)9?1? 47A RGO ey e
(2) ITRT 88A WG WIed IfAf~ram
(3) IIRT 22A WRAR w16y Siferf=ae
(4) ITRT 67A WG e ifEfaE
E@" =,
(a) A-4,B-3,C2 D1 (b) A3,B-1,C2D4
(c) A-3,B-1,C-4,D-2  (d) A-4,B-1,C-2,D-3
A BT G-I F GAferd PIAC <o ferdt
% A Ry T BT ¥ ¥ S Bl gAY —
-
(A) STIRT 45 HRG \ied AfSfras
(B) IIRT 85 WRA wed 3rferfa«
(C) STRT 45A R ey siferf=ae
(D) EIRT 23 HRAT q1ed IrfAf=aH
-
(1) SaEIHd qeg & GAeTd bl X
(2) Rrfarer APTal # wfpforl wd guHTd Bl &
(3) TR & IR H STEIRT
(4) faerssit &1 @
'a',:\?‘ —
(@) A-4,B-3,C-1,D-2  (b) A-1,B-3,C-4,D-2
(c) A-4,B-3,C-2,D-1  (d) A-1,B-2,C-3,D-4
et § W $1 a1 |E gAferd T8l 87
(a) faarfea WY@Y — GRT 122 9RAE g

S :
b) fAifte  wereeRi @ W MO
HHG — GRT 127 9N ey ifefraH

| Fal SR Bl TgH

(c) DT HYATG — GRT 124 IRAI A&
S |

(d) gRie WY@ — GRT 126 WRGE e
SRR DL
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21.

22.

23.

24,

25.

“A Barrister is instructed by an Attorney or Vakil
that an important witness is a dacoit. This is a
reasonable ground for asking the witness whether
he is a dacoit.”

This illustration is based on which Section of the
Indian Evidence Act?

(@) Section 149 (b) Section 153

(¢) Section 147 (d) Section 145

“The statement in order to constitute a
‘Confession’ under the Indian Evidence Act, must
either admit in terms the offence or at any rate
substantially all the facts which constitute the
offence.”

The above view was expressed by the Privy Council
in which one of the following case?

(@) Q.E. vs. Abdullah

(b) H.H.B. Gill vs. King Emperor

(c) Pakla Narayan Swamy vs. Emperor

(d) John Makin vs. Attorney General

Which of the following is not correctly matched?

(@) Presumption as to documents thirty years old —
Section 90 Indian Evidence Act

(b) Order of Examinations - Section 138 Indian
Evidence Act

() Presumption as to dowry death — Section 113A
Indian Evidence Act

(d) Official Communications — Section 124 Indian
Evidence Act

If a witness, who is unable to speak, gives his
evidence in writing in the open court, evidence so
given shall be deemed to be -

(@) documentary (b) primary evidence

evidence

(¢) oral evidence (d) secondary evidence .

Read the following statements carefully.-

A. The presumption of legitimacy of child is
governed by Section 112 of the Indian Evidence
Act.

B. Narendra Nath Pahari vs. Ram Govind Pahari is a
leading case on the legitimacy of a child born
during the continuance of valid marriage.

From the above -

(@) Ais true but B is false

(b) Ais false but B is true

(c) Both A and B are true

(d) Both A and B are false

21, ~

23.

24,

fslt ARTeR @7 fbely aret™i a1 aedier gw
¥ R mar 2 5 ve wewayel Wl saq
¥ 99 Wl § 9% gpa @ forg b, @ 9w
DA & U8 YIYa MR T

IRAT AR ifRfem @) fFa axr ) 9w
TR SR 27

(@) grT149 (b) g1 153

(c) aRT147 (d) gRT145

T A B U g7 amaeas & 5 aifpes
Il 1 IR B ®Y § R ¥ AT U
T B arel I WRAE deat B R

|

Sd  gfedr O sl @ gRr

Fefeaa & & fbw a1 o wreq fvar Tar?

(@) TYE. T Sregoet

(b) Ta.wgd). firer g9 fobr e

(€) UTheT ARV i) g9 TRRY

(d) S5 #9919 e oRe

F=feiRae & i &1 wdr gl = 27

(@ @9 9 R’ T B IR F SuEReT —
HRT 90 HRAI T1ey 3iffry

(b) wRieTRil BT HH — URT 138 URAT WREY
e

(€) <BY ¥ & AR § SUMROT — GRT 113A
YR ey iR gs

(d) DT IR~ URT 124 YRAT TRy
RIBIER)

e B TaE, WY Ao § omef ¥ fRad

®U H O T Gell srarerd # dar &, ar

& T A B wEr SR —

(a) gxarash gy (b) yrrfies Wy

(c) #ifge wry (d) fecfres ey

f=ifoRaa wemt @1 s & ufed —

A. ¥ Rig) & enfore 89 &) Sqemem ardg
;T:;J%\aﬁaﬁm D URT 112 O SRR

| _

B. 1% fafte fare & <R a1 gv Ry &
RO B e H TR A1 YRS 999 I
A< vl w gie are 2|

SURIaT § —

(@) A 981 § AfbB Taa &

(b) A AT ® AfeT B wET ®

(c) A T2 B SFT | &

(d) A GT B ST Terg &

[16-A]-134102
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26. presumption as to electronic record of five year old 26. Urg q¥ o REI T TSl ® 9N H
is - JURT BRI & — ‘
(@) Presumption of Fact (a) e I SULRET
(b) Presumption of Law "~ (b) fafer &5 SuemRoT
(¢) Presumption of Fact and Law t‘ (c) om eI ARy & SueTROT
(d) Conclusive proof ™ (d) FreeRTe® FEa
27. Match list—I with list-Il and give correct answer by :"5 27. A1 B G-Il A GAferd S = GRRT
using the code given below the lists - :\j & o A Rip| ®e B FgErIdl I FE BT
List-1 g —
(A) Primary evidence '\'fﬁ-l
(B) Public document (A) URIAS A
(C) Private document o (B) ElEg FRTaS
(D) Secondary evidence P () TSI AT
List-1l = (D}g’f e
(1) Section 74 Indian Evidence Act I 3
(2: Section 75 Indian Evidence Act :“}j (1) EIRT ;74 : R H@ﬁﬂﬁﬁﬁ
(3) Section 62 Indian Evidence Act {(3 ﬁ zg 5 q;‘wg R
(4) Section 63 Indian Evidence Act (4) TRT 63 TR e i
Code - Ho—
(a) A-1,B-2,C-3,D-4  (b) A-2,B-3,C-4,D-1 2 (3) A1,B2,C3,04 (b) A2,B3,C4,D-1
(c) A-4,B-2,C-3,D-1  (d) A-3,B-1,C-2,D-4 . (c) A4,B2,C3,D-1 (d) A3 B1C2D4
28. Which one of the following Provision of the Indian 323- AT e AT @ ffeRad uraREl §
Evidence Act is not matched? =+ ¥ B YD gafera w8l 87 ;
(a) Section 4 — May Presume, Shall Presume, {:_:3 (@) YRT 4 — SYLRON BY FPHIT, TR BT,
Conclusive Proof N foreaTad wgd
(b) Section 5 — Evidence may be given of facts in (b) RT 5 - RAa”S oot ik W Joait FT
issues and relevant facts
: ey fam o @
(c) Sect!on 17 Rel.e\fant Fact () EIRT 17 — AT oA
(d) Section 45 — Opinion of experts EH' ) ST 45— FRNSt  w
29. Match list- with list-ll and select the correct answer 7 29- -1 B G-I | gHferd P o gferar
from the code given below the lists - :i” 3 4 fRa ™ BT DI TRINT el Y el SR
List-| = 1 T BN -
(A) Hostile witness Y ?If-ﬁ-'l
(B) Dying Declaration (A) GETETET et
(C) Refreshing Memory (B) Wﬁﬁq HTgoT
(D) Leading Questions (€ ?ﬂﬁ aTof AT
List-1l | (D)g LRl
(1) Section 159 Indian Evidence Act =l
(2) Section 32(1) Indian Evidence Act :2 ﬁ ;i?l?ﬂ_‘h? w%&%aﬁﬁmﬁ ﬁ
(3) Section 154 Indian Evidence Act (3) GIRT 154 S T AR
(4) Section 141 Indian Evidence Act (4) TR 141 AR e R
Code - Fe —
(a) A-3,B-2,C-1,D-4  (b) A-1,B-2,C-3,D-4 (@) A3 B2,C1,D4 (b) Al B2 C3 D4
(c) A-4,8-2,C-1,0-3  (d) A2,B3,C1,D-4 (c) A-4,8-2,C-1,D3 (d) A-2,B-3,C1,D4
[16-A]-134102 Page 8 of 40
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30.

‘Identification proceedings’ are provided under

which Section of the Indian Evidence Act? foT aRT B el 27
(a) Section-7 (b) Section-8 (@) gRT — 7 (b) ¢IRT — 8
(c) Section-9 (d) Section-11 (€) uRT — 9 (d) gRT — 11
31. Match list-l with list-Il and select the correct  31. A B el AR AR e i
answer using the code given below the lists — @ 9 el he I T SR By gfam —
List_—l W_[
(A) Interpretation Clause (A) e @vs _ _ o
(B) When facts not otherwise relevant become (B)d T2 ST el G 6l 7, Ba AN
relevant ’ CJ:' . %
(C) Burden of Proof P (C) YT T UR . _
(D) Relevancy of facts forming part of same Ej (D) ¥ _E?{ AT BT ST I el @t ol
transaction
List—1 © Sl -
(1) Section 6 Indian Evidence Act ke (1] BRTE
(2) Section 105 Indian Evidence Act (2) ©IRT 105 RET e Sy
: EX— (3) EIRT 11 YRR Y IR
(3) Section 11 Indian Evidence Act
(4) Section 3 Indian Evidence Act (4) RT3 IRART ey s
Code - &% EE;E ~
(@ A-1,B-2,C-3,0-4 (b) A-2,8-3,C4,D-1 P (@) A-1,B-2,C3,0-4 (b) A-2,B-3,C4,D-1
(c) A-4,B-3,C2,0-1  (d) A-2,B-1,C-3, D4 3 () A-4,B3,¢-2,0-1  (d) A-2,B-1,C-3,D-4
32. In which of the following Sections of the Indian f; 32. 9ReiT wed s @ AR § ¥ fabsg
Evidence Act, the fact showing the knowledge is g gRT H 51 @R & ara gey Bl gaTa foar
declared relevant? T 8?
(a) Section-8 (b) Section-9 (@) g7 -8 (b) &RT — 9
: (c) Section-13 (d) Section <14 () RT - 13 (d) %7 - 14
33. Consider the following events and arrange them e 33. F=faRaa geaai R [qar HITY TAT ITh)
into chronological order - fes BT HATR gaRerd By — .
inati o :
I. Cross examination — I ufa oer
Il. Examination in chief o I, o= Tl
_ inati o) ¥
gl.lRete:hamrnatlor; - 5 &~ . g e
elect the correct answer using the code given NN N
BT | SR B FT —
below - ferg e = L
Code - R -
@ 1 1l and II (b) 11,1 and i o (@ 1, na=r m (b) 1, 1e2am
(€) M, iland | (d) 11, il and | P (0, e @) 1, =y
) ;
34. The evidence may be given of following facts — «— 3. fy=foRaa aedl &1 wry Ry o v —
(1) Facts in issue f,,’i; (1) faamres e
(2) Relevant fact Y (2) T T
Select the correct answer using the code given o Ry 17 32 I 9 9% @y gy —
below - P — °
Code - -
) iy (b) Only 2 (8] s ¢ e 2t 2
nly n ;
c HEI d
(c) Both1and2 (d) Neither 1 nor 2 (© 131k 2 @ 3 a1 a2
[16-A]-134102 Page 9 of 40
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35.

36.

37.

Assertion (A): Admission is only prima facie proof.
Reason (R): Admissionis nota conclusive proof but
it may operate as an estopple.
(@) A and R both are true and R is the correct
explanation of A
(b) A and R both are true but R is not the correct

explanation of A

- (€) Aistrue butRis false

(d) Ristrue but A is false

The Cardinal Principle of Criminal Law ‘Nullum '
Crimen Nulla Poena Sine Lege’ means -

(@) no crime of punishment can exist without pre-
existing Criminal Law

(b) a man is presumed to be innocent until proven
guilty

() ignorance of law is not excused

(d) ignorance of fact is excused

Match list=1 with list=ll and select the correct

answer using the code given below the lists —
List-1 '

(A) Section 146 IPC

(B) Section 340 IPC

(C) Section 192 IPC

(D) Section 383 IPC
List-Il

(1) Fabricating False Evidence

(2) Extortion

(3) Rioting

(4) Wrongful confinement

Code -

(a) A-1,B-4,C-3,D-2

(c) A-3,B-2,C-1,D-4

(b) A-3,B-4,C-1,D-2

(d) A-2,B-4,C-3,D-1

‘A’ commits theft on the property in the possession
of ‘B’ and while committing theft ‘A’ has a loaded
pistol under his garments, kept for the purpose of
hurting ‘B’ in case if ‘B’ resist.

The offence committed by ‘A’ is defined under
which Section of the Indian Penal Code, 18607

(a) Section 382 (b) Section 381

(c) Section 379 (d) Section 390

35.

37.

W(A):?ﬁmwwmw

|

W(n):ﬁ@%ﬁﬂﬂtﬁﬂﬂjﬁé’f%ﬁﬁﬁ

e &1 el

(@) A3lR RIMI T € 3R R, A DI Wl R
g

(b) A 3R REFT W & AfbT R, A B &l
T AE ®

(c) AV & TR+ RO ©

(d) R 2 TR AT B

s fafy @ gor Rigia <o AT gean

QUAT |EE A W Ay @ -

(a) fa qd e aroRie Ry & @ A
$1d IRM AT <fvSH Bl Bl Hebdl

(b) Siq b <Y g & & ol 99 deb A
ey 8ar g

() I & yor &= TR 8

(d) Tou @ e & B

A BT G-I gl @Y e gt

> R R W we ¥ 9 I B G -
A

(A) HIRT 146 ARG TUS WA

(B) ETRT 340 R TUS HfRT
(C) TRT 192 YR Us wfedl
(D) &IRT 383 WA &US e
-
(1) fiear wRa TAR BT
(2) SEMA
(3) de@T HRAT
(4) e gRRY
_CF?;\E ==
(a) A-1,B-4,C3,D2 (b) A-3,B-4,C1,D-2
(c) A-3,B-2,C-1,D-4  (d) A-2,B-4,C-3,D-1
T FY BT TERT TR o AR AT B 3R
2 IR TET QN UM IO gl @ Wi
g A g8 e v 8, e a8 ‘9 R
gfeR fFd WM W T BT EIH ugEn 0 |
1860, &1 fara T & uRwifya faar mar 272
(a) eTRT382 (b) ©IRT381
(c) eIRT379 (d) €RT390
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39.

40.

a41.

42.

43.

Which of the following pair is not matched?
(a) Extortion-Section 383 IPC

(b) Dacoity-Section 391 IPC

(¢) Robbery-Section 389 IPC

(d) Theft-Section 378 IPC

Consider the following activities & arrange them
into chronological ascending order as per relevant
Sections of the Indian Penal Code.

I. Sedition

Il. House Tresspass

lll. Communication made in good faith

IV. Public Nuisance

Select the correct answer using the code given
below — '

Code -
(@ u,1,1v, 1 () m, v, 1,1
(€) 1, n,n, v (d) v, 1,1, 1

The expression ‘disaffection’ used in Section 124-A
of the Indian Penal Code includes -

(a) disloyalty only

(b) disloyalty and all feeling of enemity

(c) all feeling of enemity only

(d) hatred or contempt

Assertion (A): A is a child of nine years. He
intentionally killed B. A may be
proved guilty.

Reason (R): Child below the age of twelve year

exempted from criminal liability.

Select the correct answer -

(@) Both (A) and (R) are true and (R) is the correct

explanation of (A)
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(©) (A) is true but (R) is false

(d) (A)is false but (R) is true

A hangman, who hang the prisoners pursuant to

the order of the court is exempted from criminal

liability by virtue of -

(@) Section 77 IPC

(b) Section 73 IPC

(c) Section 78 IPC

(d) Section 76 IPC

39.

41.

42,

?ﬂ%ﬁqﬁrﬁﬁaﬂwgwwﬁgﬁrﬁ#ﬁﬁ
s i

(@) SO — gRT 383 YR gve wiar

(b) St — URT 391 YRAT Tve G

(©) e — urT 389 YR Tve wfEear

(d) IR — uRT 378 MR Tve wfear
frfoRed fifaftel w Rar #fw &k
BTG —

I. NTEIE

I1. E—3iferaR

|. AHIGTYd D < T avgET
::fah?ﬁeatnﬁ (@ =)

Ry 1Y g @ 9 SR B g —
az_\e e

(@ u,1,1v, 1 (®) m, v, 1,1

©) v (d) 1v, 11,1, 1

AR TUS R BT RT 124-A H T eg
‘siifer # wifyer & —
(a) Haat amfer
(b) spfarT dor gEE @) g9 Hra
(©) Baet g I T8 HaT
(d) FoIr a7 ST
DY (A): ' TP Al Y BT MY BT A T
9E AR ‘g P OAR AT 2] N H
a1 g fbar o1 waar 2
PR (R): 9RE 96 F FH AR B aqED
MRS <R A o & | |
el SR g - .
(@) (A) R (R) IHT W § AT (R), (A) BT WA
BT &
(b) (A) SR (R) T WET & b (R), (A) BT WE
BT TE B
(©) (A)WEl & TRy (R) T &
(d) (A)TeId & TR (R)FE &

UH Slodle, S Elald & ey & ITAR
Sl B Bied a1 ¥ 97 Ar=RRad & R
W 3RS SR & ga B -

@) arT 77 9RAg gvs Gfear

(b) ¥RT 73 YR TUe wigar

() orT 78 R Tve GRar

(d) &RT 76 YReA gve wfgar :

[16-A]-134102
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44.

47.

Match list-l with list-1l and select the correct answer
from the code given below the lists —
List—1
A. Causing death by negligence
B. Dowry death
C. Abetment to suicide
D. Attempt to commit suicide
List—Hl
1. Section 309 IPC
2. Section 306 IPC
3. Section 304A IPC
4. Section 3048 |IPC
Code -
(a) (A)-3, (B)-4,(C)-2, (D)1
(b) (A)-1, (B)-2,(C)-4, (D)3
(c) (A)-2, (B)-4, (C)-1, (D)-3
(d) (A)-4, (B)-2, (C)-3, (D)-1
Which of the following case is related to the
defence of necessity?
(a) D.P.P.vs.Beard
(b) R.vs. Dudley and Stephen
(c) R.vs. Lipman
(d) case of Mc’Naughten
Arrange the following in the chronological
ascending order as per relevant Sections of the
India Penal Code —
I. Document
Il. Fraudulently
[Il. Dishonestly
IV. Public Servant

Select the correct answer using the code given

below -
(a) v, 1, lland | (b) 11, 11, IVand |
(c) 1,11, and IV (d) 1,1, 1and IV

In executing a sentence of solitary confinement,
such confinement shall in no case exceed, how
many days at a time?
(a) 7 days
(c) 21 days

(b) 14 days
(d) 01 month

44.

45.

47.

T q A1 B gafr g qer et
& A RA T |e BT R B gY Hel I
FT =TI DI —
-
A. SUET §RT 9 BIRT BT
B. 329l Jg
C. JTHET BT GORYT
D. 3MTCAEST BY BT UIeT
Gl
1. &TRT 309 YR TUS Sfee
2. IRT 306 WRAI §Us wfadl
3. ¢[RT 304A ¥R €U AfRdl
4. 9TRT 304B ¥R g0 Hfedl
'[-@ =
(a) (A)-3, (B)-4, (C)-2, (D)1
(b) (A)-1, (B)-2, (C)-4, (D)-3
(c) (A)-2, (B)-4, (C)-1, (D)-3
(d) (A)-4, (B)-2, (C)-3, (D)-1
Frefeae 3 | BT ag IMITIRT D AR
T yfoRen | GrEId 27
(a) a1, W e
(b) 3R, §H Sl TS LG+
(€) 3R g foruda
(d) Aeprite &1 dlg

P ) AR <UE R A s B

SR TR 95 FHHARER AR BT —

1. SRS

Il. HUSYED

. AEEE |

V. Sl D

= R W g FT TN I g Fel IR
-

(@) 1v, m, 11 <RI |
(€) 1,1, maAT IV (d) 1, 1 TAT IV
T GRIM B cveRy & fwred # gEr
R et o ger ¥ fbaw e @ s A

(b) 1m, 11, IV AT

BITT?
(@) 7fe= (b) 14 feH
(c) 21 1R+ (d) o1HTE
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48. Assertion (A): The Indian Penal Code contains

certain exemptions from criminal
liability.
Reason (R): These cannot be universal criminal
liability in all circumstances.
Select the correct answer -
(@) (A) and (R) both are true and (R) is the correct
explanation of (A)
(b) (A) and (R) both are true but (R) is not the
correct explanation of (A)
() (A)is true but (R) is false
(d) (A)is false but (R) is true

@-W(A):mﬁumﬁ%mﬁmﬁ%

RO

31T & HB e §)
(R): I uRRefeaf # ardwifas
NI ST &Y B Farar |

| ¥ IR gy —

(@) (A) @R (R) ST TG & 3R (R), (A) BT G
AT B

(b) (A)3IR (R) ST Wcw & A (R), () &Y D
T T R

(©) (A) ¥ & R (R) ST R

(d) (A) 3T & TR (R) W R

49. Which one of the following is correctly matched? 49. f=ferfaa & & ewr TS gHferd &7 :
(@) Section 124A IPC - Criminal conspiracy (@) gRT 124 A TUS e — SRS
(b) Section 340 IPC —Wrongful confinement b A , )
() Section 350 IPC - Rape (0) ST 340 =vs b — i wfide
- () 8T 350 ¥Ref1T TvS Wkl — qAHR
(d) Section 354C IPC - Stalking (d) SRT 354¢ 7R TUE <R — fioT B
50. Match List-I with List-Il and select the correct  50. A1 B G- d ?jﬁﬁﬁ PIRTY < Jforar
answer using the code given below the lists — D A ﬁfl T HT B GEFaT ¥ T TR
List~1 Ty —
A. Section 463 IPC -
B. Section 445 IPC A. 8T 463 YR TV iar
C. Section 441 IPC B. ©IRT 445 ¥R €vg Hzar
D. Section 503 IPC C. URT 441 9RO U8 Har
List-11 D. RT 503 ¥RAR g8 wfRar
1. Criminal tresspass -\3‘-!11_"
2. Forgery 1. RIS Jife=aR
3. Criminal intimidation 2. BT Tl
" 4. House breaking 3, RIS =Ry
Code - 4. T8 WS
(@) (A)-2, (B)-4, (C)-1, (D)-3 He —
(b) (A)-2, (B)-4, (C)-3, (D)1 (@) (A)-2, (B)-4, (C)-1, (D)3
© (412, (8)1, (0)3, ()4 ©) {812, (814,013, (D1
(@) (A)-1, (B)-2, (C)-4, (D)-3 o R (G )
PR _ (d) (A)-1, (B)-2, (C)-4, (D)-3-
51. Which of the following is not an element of crime? Sl 9 . 9§ BT G SR BT e 7S 27
(@) Human being (b) Mensrea (@) " g yofy (b) TRy
(¢) Actusreus (d) Object () MRS &1 (d) Se3yg
[16-A]-134102 Page 13 of 40
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52.

53.

54.

Match list-l with list-Il and select the correct answer
using code given below the lists -

List=l List-1i

A.120A 1. Sedition

B. 124A 2. Voyeurism

C.295A 3. Criminal conspiracy

D. 354C 4. Deliberate and Malicious Acts
intended to outrage religious
feelings or any class by insulting
religious belief or religion.

Code -

(a) (A)-1, (B)-2,(C)-3, (D)4

(b) (A)-2, (B)-4, (C)-1, (D)-3

(c) (A)-4, (B)-3, (C)-2, (D)1

(d) (A)-3, (B)-1, (C)-4, (D)-2

‘A’ is a national champion of swimming in pond. He
could have saved the child, but did not do so. The
child drowned. Is ‘A" guilty of -

(a) murder,

(b) abetment of Suicide

(c) culpable homicide not amounting to murder

(d) no offence

Match list-l with list-Il and select the correct answer
using the code given below the lists —
List—1
A. Delivery of property
B. Taking of property

'C. Entrustment of property

D. Convertibility of property got innocently to one’s
own use '
List-1l

1. Criminal breach of trust

2. Criminal misappropriation of property

3. Theft ' 3

4, Extortion

Code -

(a) (A)-4, (B)-3, (C)-1, (D)-2

(b) (A)-3, (B)-4, (C)-1, (D)-2

(c) (A)-4, (B)-2,(C)-3, (D)1

(d) (A)-3, (B)-1, (C)-2, (D)-4

52. ﬂjﬁ’[—wﬁq:r?wlégﬁr%ﬁaﬁmww

53.

54.

A Ry T AT @ WA SR BT R -

ﬂjri’t—l g

A. 120A 1. XNT%

B. 124A 2. TR

C. 295A 3. RIS ST

D. 354C 4, frif¥fa ud fRAgergel sl S
ot ot & enfie fazaral @
o BT ATAF XD D IS
TR Bl IMET B D IR
3 fg T €|

wHc —

o

(a) (A)-1, (B)-2,(C)-3, (D)-4
(b) (A)-2, (B)-4, (C)-1, (D)3
(c) (A)-4, (B)-3,(C)-2, (D)1
(d) (A)-3, (B)-1, (C)-4, (D)-2
‘A TP AR T AL ARG §, T8 T I
T AT SEd S 2, 98 IADT g W0
9T Wbl o UR=] el gardn, dear g9 oidl
2 @A B © -
(a) &1 HT
(b) ST & GBIV B
(c) BT H) B | 71 3T aTel IMURIEID AT
o Bl
(d) PIS IRET &I
- § - B Al @ aun gREET B
4 R .TT & B TN PR §Y FE SR
1 TR FIY —
A
A geEafRy &1 uRam
B. GHIRRY &7 o=
C. FHRT &1 =& BT
b. Frety adiss & ure TRy &7 JuRafda &
A @I B YA H AT

(a) (A)-4, (B)-3, (C)-1, (D)-2
(b) (A)-3, (B)-4, (C)-1, (D)-2
(c) (A)-4, (B)-2,(C)-3, (D)1
(d) (A)-3, (B)-1,(C)-2, (D)-4
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5. Disclosure of the identity of a rape victim- is 55. gemadT Gf$ar &1 uReay YHRUT YRAY QU
punishable under the following Section of IPC, ofedr, 1860 & gRT ¥ gusdg
1860- : —

(@) Section 337 (b) section 228 (@) gRT 337 (b) &IRT 228
(¢) Section 229 (d) Section 228A (©) &RT 229 (d) eTRT 228A

56. Forthe validity of a contract, which of the following 56. v Ay wfyer @ fo fr=feRaa & P Y

elements are necessary? T IMavgds &7

- 1. Intention to create legal relationship 1. A Tegeer ST B BT AT

2. Knowledge of the offer 2. UG BT ST

3. Writing of the agreement 3. fafeg avRr BT BT

4. Acceptance of the offer 4. RIS A m

Select the correct answer using the code given Fﬁ? 3 T3 3 T ) il
below — e B ﬂ'ﬁ'ﬂ
Code - R -

(@ 2,384 (b) 1,384 (a) 2,33ﬁ?4 (b) 1,3@?4

() 1,284 (d) 1,2&3 (©) 1,23k 4 (d) 1,23k 3

57. An agreement, the meaning of which is neither 57. U SR Rt aref Aiftag T8 & a1 Al
certain nor is capable of being certain is - B ST &Ry T8 & —

(a) void (b) Illegal @ T g (b) 3raey 2
(¢) Voidable (d) valid _ (©) IR & (d) Rfmr=y 2

58. Match list-1 with list-l and select the comrectanswer 8. i) & Wi ¥ Gaferd Hg Fer gferai

using the code given below the lists — D A T T he | el ST ﬂﬁf({ =
List—] -

A. Section 16 Indian Contract Act A. 8RT 16 R wfaer ey

B. Section 71 Indian Contract Act B. YIRT 71 YRcig wfdeT fafy

C. Section 2(d) Indian Contract Act C. gRT 2(d) YR wfder ARy

D. Section 56 Indian Contract Act D. &IRT 56 9RART HfAer fafey
List—I -\1—,;'1_"

1. Consideration 1 Qﬁqﬁf

2. Agreement to do impossible act 2. 3T B By @ forv owR

3. Undue influence 3. 3RS gHTT

4. Finder of goods 4. 95T UST UM aren

Code - FE — N

@ (A12,(8)3, (01, (0)-4 @ (4)2, (8)3, (11, (D14

(b) (A)-3, (B)-4, (C)-1, (D)-2 (b) (A)-3, (B)-4, (C)-1, (D)-2

(©) (A)-3, (B)-1, (C)-4, (D)-2 (€) (A)-3,(B)-1, (C)-4, (D)-2

(d) (A)-2, (8)-4, (C)-1, (D)-3 (d) (A)-2, (B)-4, (C)-1, (D)-3

59. Which of the following is correctly matched? 59. f=forlRad & & @i=ar eI guferd 8?2

(a) Revocation how made - Section 5 Indian
Contract Act

(b) Acceptance must be absolute - Section 6 Indian
Contract Act

(€) Person competent to contract - Section 10
Indian Contract Act

(d) Responsibility of finder of goods - Section 71
Indian Contract Act

(@) TREERYT B fhar ST & — gy 5 AR
wfaer fafey

(b) yftreyr amafas 8Fr TR — O 6
YRART Hfder fafy

(©) HfaeT #= & forg wem afid — urr 10
AR ifder fafey

(d) #TeT 9T UM Al @71 SAREIRE — uRT 71
R e Ay
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60.

61.

62.

63.

Assertion (A): Agreements enforceable by law are
contracts.
Reason (R): Agreements not enforceable by law are
void.

Select tbp) correct answer using the code given

below —~-

Code - CE

(a) Both-{A) and (R) are true and (R) is correct
exp@;}j}tion of (A)

(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

The casé 6f Tweddle vs. Atkinson is related with -

(a) Privi?y;of Contract

(b) lmpts;sibility of performance

(c) Ger\;fgl offer _

(d) Anticipatory Breach of Contract

Match list-1 with list-1l and select the correct answer
from the cpde given below the lists =
ListrL.
(B) Misigﬁresentation
(C) Coe(tibn
(D) Fraud
List=ll
(1) Section 17 Indian Contract Act
(2) Section 15 Indian Contract Act
(3) Section 18 Indian Contract Act
(4) Se:&a’u 14 Indian Contract Act
Code - :Er
() A1, C3,D4 (b) A4,B3,C2D1
(c) A-3, B-2, C-4,D-1 (d) A-2,B-3,C-1,D-4
Under Section 2(C) of Indian Contract Act
‘promisee’ is the -
(a) Person who makes the proposal.
(b) Person who accepts the proposal.
(¢) Person who makes the promise.

(d) Person to whom the proposal is made.

60.

61.

62.

63.

v (A): R T TadT HRR WfaST 2
W-(R):@WWW?H%I
S Bl T e @ AR SR B g -

T —

(@) (a)3R (R) ST T & MR (R), (A) T HET
TR BT © _
(b) (A)3iR (R) e W € fHg (R), (A) @ HET

T A& Bl B
(©) (A) aT & fbeg (R)TTeTd ©
(d) (o) TTera 2 fg (R)EE B
aﬁwmmmmﬂm@ﬁ%—
(a) wfdeT @Y Y |
(b) TTe @I SR |
(c) | wRTd |
(d) ifeeT & EBIeD HT WA
A @l ?@—négﬁrﬁmzﬁﬁma@nqﬁm‘f
& 9 RT T Fe BT IEN B g WE I
BT FIT DI —

GGl
(1) &IRT 17 MR wfaeT s
(2) &TRT 15 AR HfdaT T
(3) IRT 18 W wfdaT s
(4) UIRT 14 WA w7 SR
‘C}Zc'l" g
(a) A-1,B-2,C-3,D-4  (b) A4,B-3,C2, D-1
(c) A-3,B-2,C-4,D-1 (d) A-2,B-3,Cl, D-4
e wfer Rl @ ar 2(0) @ I I
TEAT ® —
(a) afad < U@ <A & |
(b) = i1 TR BN Bl 8 |
(c) =afda S ao < 2 |

(d) iy Porads frg TRaTg awRIT AT 8 |

[16-A]-134102
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64.

65.

66.

67.

68.

Which one is the correct sequence from the

following as implied in the India Contract Act,

18727

(A) Offer of proposal

(B) Contract

(C) Promise

(D) Agreement

(E) Acceptance

Select the correct answer -

@ (c), (e), (A), (D), (B) (b) (D), (B), (C), (A), (E)

(©) (B), (D), (C), (A), () (d) (A), (E), (C), (D), (B)

Point out the correct answer -

(@) An agreement enforceable by law is a contract.

(b) An agreement which is not enforceable by law
is also'a contract,

(€) Every agreement is 3 contract.

(d) None of the above

Assertion (A): Invitation to make tenders is not an
offer. :
Reason (R): A tender in response to such invitation
is an offer,
Select the correct answer -
(@) (A) & (R) both are true and (R) is correct
explanation of (A)
(b) (A) & (R) both are true but (R) is not the correct
explanation of (A)
(€) (A)is true but (R) is false
(d) (R)is true but (A) is false
When consideration and object of an agreement is
partly unlawful under Indian Contract Act, 1872,
the agreement is -
(@) void
(b) Vvoidable
(¢) Partially void and partially voidable
(d) None of the above
‘A" owes ‘B’ 1000 but the debt is barred by the
Limitation Act, ‘A’ signs written promise to pay ‘B’
T 500 on account of the debt. Thisis a -
(@) Contract (b) Void contract

(¢) Agreement (d) Void agreement

64.

65.

66.

67.

68.

‘Tﬂ?ﬁuﬁﬁmwﬁﬁvm,mma}ajﬁwﬁwﬁ
@ﬁawwm‘rw%‘?_
(A) UTT BT yarg
(B) wfaer
(C) T=+
(D) PR
(E) ¥digpfy
Wl ¥R BT 94T Ao —
@) (c), (), (A), (D), (B) (b) (D), (B), (C), (A), (E)
(©) (B), (D), (C), (A), (E) (d) (A), (), (), (D), (B)
WEl IR gAY —
(ﬂﬁﬁmwﬁuwwﬁm%t
(b)agwﬁﬁﬁmmﬁ‘ﬁ%‘agﬂﬁ
GICE -
(©) 9% TR v wfer 2
@) oo & & H1F &
Hﬁmm(n):ﬁrﬁawaﬂﬁa%%qmww
UG TE
W(n):tﬁaﬂwzﬁwﬁﬁﬁmw
U & | '
el SR gy —
(a) (A)W(R)aﬁa‘fw%@h(m,m}aﬁw
R &
(b) (A) T2 (R) IFl T § A (R), (A) @F
el =T S -
©) (A) ¥ & W (R) arTy
(@) (R) W1 & W (A) sy R
m%ﬁwﬁuﬁwaﬁwﬁwmﬁﬁ
ﬁﬁﬁé"lﬁ%‘ﬂaﬂmﬁuﬂﬁmaﬁrﬁuﬂmn
4 PR BT —
@) 3=
(b) Trgavofiy
(©) 3 T sk afore:
@) SR § § i 78
'B'a%moo?waméu‘s‘ﬁ!ﬁagamqﬁmm
a@ﬁmmaﬁfﬁmu\'wwa}mw
aﬁsoo%éﬁaﬂﬁrﬁﬁmmﬂﬁawﬁr
RERC R '
(@) wfger &
(c) Fvr 2

(b) 3= wifder &
(d) T PR &

[16-A]-134102
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69.

70.

71.

72.

[16-A1-134102

Match list-1 with list-1l and give correct answer by
using the code given below the lists —
List-1
(A) Voidable contract
(B) Contract
(C) Void agreement
(D) Consideration
List-1l
(1) Section 2(d) Indian Contract Act.
(2) Section 2(g) Indian Contract Act
(3) Section 2(i) Indian Contract Act
(4) Section 2(h) Indian Contract Act
Code -
(a) A-4,B3,C2,D1 (b) A3, B4 C-2,D-1
(¢) A-1,B-2,C3,D-4  (d) A4,B2C3 D-1

Taylor vs. Caldwell, 122 ER 309 is aleading case on

which topic in Indian Contract Act, 1872?

(a) Doctrine of (b) Doctrine of Necessity
_ Frustration

(c) Offer (d) Contingent Contract

Which of the following Sections of Code of Civil
Procedure, 1908 deals with transfer of decree for

execution?
(a) Section 42 (b) Section 39

(e) Section 51 (d) Section 16

Arrange the following in the chronological order on
the basis of Sections of Civil Procedure Code,
1908-

(1) Institutions of Suits

(1) Res Judicata

() Legal representative

(IV) Arrest and detention

Select the correct answer -

Code -
(@ 1, n &IV (b) 1,1, &IV
(c) 1, [, &IV (d) n, n, 1 &

69.

70.

71.

T2

qﬁ#—laﬁ?ﬁﬁ—nﬁgﬁfﬁﬁaﬁmﬁmﬁﬁiﬁ
%ﬁﬁﬁqm@aﬁwﬁﬂﬁw
9 —

-
() TR et
(8) wfaer

ae -

(a) A-4,B-3,C-2,D-1  (b) A3,B-4,C2, D-1 §

(¢) A-1,B2,C3,D4 (d) A4B2 c-3,D-1 .

Sor 9 Brosae, 122 $3TR. 309 ARG

e e, 1872 # fbw fawa WX U@ WgH

HIHAT 87

(@) 3o @1 fugia  (b) SERIH B
Rygid

(c) gRRATIT (d) weif¥ra wfdaT

g ufsear wfed, 1908 &1 e # | B

& o Promee ¥ R & e 9 TR

7

(a) &RT 42 (b) gRT 39

(c) &mT 51 (d) gRT 16

SrfeRag @) Sar ufbar wfedl, 1908 Eal

el @ STER TR HHNIR AR PIfTY —

(1) are @1 wferd fam S

E‘E ==
(@ 1,11, 3RV (b) 1,1, 11 3R WV
(©) 1,1, MR IV (d) u, 1, 13RIV
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73.

74,

75.

76.

Which of the following Section in the Code of Civil
Procedure, 1908 deals with settlement of disputes
outside the court?
(@) Section 88
(c) Section 90

(b) Section 89
(d) Section 91

Match list-I with list-Il and give correct answer by
using the code given below the lists — )
List—1
(A) Adjournment
(B) Execution of Decree and orders
(C) Plaint
(D) Affidavit
List-1I
(1) Order 19 cPC
(2) Order 17 cpc
(3) Order 21 cpcC
(4) Order 7 cPC
Code -
(@) A-1,B-2,C-3, D4
(c) A-3, B-2,C-1, D4

(b) A-2,B-3,¢4,D1
(d) A-4,B-2,C-3,D-1
‘Movable Property’ under Section 2(13) of the Code
of Civil Procedure Code, 1908 includes -

(@) growing trees (b) buildings

(c) growing crops (d) money

Section 75 of the Civil Procedure Code, 1908
provides for - |

(a) Issuing Commission for getting opinion

(b) Appointment of executors and administrators

(¢) settlement of disputes outside the court
(d) All of the above

Match list- with list-Il and select the answer using
the code given below the lists —
List-1

(A) Execution of Decree

(B) Letter of request

(C) Legal representative

(D) Institution of Suit
List=II

(1) Section 50 CPC

(2) Section 26 cpPC

(3) Section 77 cpc

(4) Section 38 CPC

Code -

(@) A-1,B-2,C-4,D-3

(c) A-4,B-3,C-1,D-2

(b) A-2,B-4,c-1,D-3
(d) A-3,B-4,C-1,D-2

73.

74.

75.

76.

ot ufbar GRar 1908 & 71 & | @)
Qﬂwwauzﬁmﬁam‘fa%ﬁua%ﬁ
Ry 87

(@) =T 88 (b) g7 89

(¢) gRT 90 (d) gRT 91

—I BT G| ?ﬂjﬁf%lﬁaf‘rﬁ:mﬁ‘m o
?ﬂ%ﬁwww'@aﬁwﬁwﬂgﬂﬁ

P —

-1
(A) R
(B) f¥a1 3ik- ameeif a7 foysyres
(OEICE

I

(1)@@3119@‘131?%?@:‘&1#%6”

(2) AR 17 A wfbar whear
(3) M 21 A ulpar wha
(4) 3Mee 7 A wfdpm wiar
$“E -

(@) A-1,B-2,¢3,D4
(€) A3,B-2,¢1,D4

(b) A-2,B-3,C-4,D-1
(d) A-4,B-2,C-3,D-1

fafaer sfbar <ifRar, 1908 @ ey 2(13) &
Wﬁﬁmﬂmﬁrﬁﬂfﬁ?ﬁm%—

(@ ST U (b) saRe

(©) I By (d) g

ﬁrﬁaﬁm wfEET, 1908 & URT 75 Yy
aﬂ?ﬁh X .
(@) 37 U1 Y B B o P B
(b) Frsarees o s @) Prgfr
(©) =T & qrev fRaret @ fger @
(d) SwRIeT wf

kal _uﬁﬁﬁﬁ-‘fﬁﬁﬁvww
%ﬁ:ﬂﬁﬁq@;@aﬁﬁmﬁﬁwaﬁ

X
(A) St &7 e
(B) LE|
(©) g%ﬁwuuﬁﬁ‘rfﬁ
(D) a1E BT GRerT YT
GGl
(1) &IRT 50 ffder wfebar wifar |
(2) ORT 26 fHfaeT ufthar wfear
(3) 8T 77 RAfdeT wfshar wfdar
(4) &RT 38 fHfaer ufhar wiRar
'q):‘cll' )
(@) A-1,B-2,C4,D-3
(¢) A-4,B-3,C-1,D-2

(b) A-2,B-4,¢-1,D-3
(d) A-3,B-4,C-1,D-2

[16-A]-134102
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78.

79.

80.

81.

82.

83.

Provision regarding adjudication of Claims and
Objection to attached property is -

(a) Order 21 Rule 58 CPC

(b) Order 21 Rule 59 CPC

(c) Order 21 Rule 57 CPC

(d) None of the above

“No appeal shall lie from a decree passed by the

court with the consent of the parties.” It is provided

in -

(a) Section 96(1) CPC

(b) Section 96(2) CPC

(c) Section 96(3) CPC

(d) Section 96(4) CPC

Which of the following combinations are correctly

matched?

(1) Interpleader Suit - Order 35 CPC

(2) Judgmenf and Decree - Order 20 CPC

(3) Withdrawal and Adjustment of Suits = Order 23
CPC

(4) Payment into Couirt'- Order 21 CPC.

Select the correct answer -

Code -
(@ 1,2and3 (b) 1,2 and 4
(c) 1,3and 4 (d) 2,3and 4

Devilal Modi vs. STO AIR 1965 SC 1150 is a leading

case on which topic?

(a) Stay of Suit

(c) Constructive
judicata

(b) Place of Suit
res(d) Interlocutory orders

Who has the authority to fix scales of monthly

allowances payable for subsistence of judgment

debtor?
(a) District Court
(c) District Magistrate

(b) State Government
(d) High Court

Which of the following suits are of civil nature?

(1) Suits related to Right of Worship.

(2) Suits for rights of hereditary offices.

(3) Suits for recovery of voluntary payments or

78.

79.

80.

81.

82.

83.

oot awel greEE 8§ —
(a)méﬂzlﬁmssﬁrﬁﬂmﬁ%m
(b)mﬁﬂnﬁwsgﬁﬁaqmﬁﬁm
(c)aﬁﬂzlﬁmwﬁxﬁﬂqﬁmﬁ%m
(d) Suad #§ A PIE TE
'Wﬁwﬁ%wmmﬁaﬁm
(ﬁfﬁf}$ﬁmmﬂaﬁaﬂwm§r'
I U & —
(a)ﬁiﬁﬂuﬁo‘mﬁ%maﬁam%mﬁ
'(b)ﬁwﬁﬂuﬁa‘m‘m%maﬁamge(zﬁ

(c) Rifaer uftpar wfean o1 R 96(3) H
(d)ﬁ{ﬁﬂmﬁ%ma%am%wﬁ
ﬁﬂﬁﬁaﬁﬁézﬁ“mﬁwﬂaaﬁzﬁﬁ

aferd 82
{1}ﬁqﬁaﬁﬂw—m35ﬁrﬁam

wifgar
{2-}%3%%&—@%&120%1%{9%
(3)6@&@@@@1@@?—3@5123
Ryfaer ufshan wfgar
(41wﬁﬁwﬁ—mﬂz1ﬁwﬁa
ufspar |

wfedr
8 SR gAY —
‘q?:\?_
(@) 1,273 (b) 1,2 7T 4
(€) 1,374 (d) 2,374

T o Al 9 TS, TSR, 1965
T 1150 e w8 TR UH WG AWl 87
(@ T @ Ad fear(b) arg HRA DI WAH

ST

(©) TP wre=ar  (d) e e
ﬁﬁﬁ%ﬁﬁéﬁ@aﬁﬁﬂhﬁ%ﬁéﬂmﬁw
@wwﬁa’rﬁﬁaﬂ#'waﬁaﬁﬁmﬁw
(a) Rrar =amaTerd (b) T WBR

(c) forem arferpry (d) Tza I
ﬁw%ﬁaﬁﬁﬁﬁﬂwmfﬁﬁawﬁrw%?
{1)1:@@?1%31@@%@&&163@1
{zyﬁm@lﬁzm%@ﬁ%a@aﬂﬁ%maﬁl

(3}ﬁﬁa‘$§ﬂaﬁmﬂmﬁaﬁa¢-ﬁa‘»m

offerings. qrq |
() Suits for specific relief. (4) fafafd= GF_ﬁhﬂ % fog |
Select the correct answer - FE SR gihe —
Code - @ He —
(@ 1,2and3 (b) 2,3and 4 @) 1,28 3 (b) 2,330 4
(c) 1,2and4 (d) 1,3and 4 (c) 1,23 4 (d) 1,33 4
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85.

86.

87.

(¢) Section 59

(€) Cost

Which one of the following is not correctly

matched?

(a) Section 2(2) CPC —Decree

(b) Section 2(9) CPC - Judgement

(c) Section 2(13) CPC — Order

(d) Section 2(6) CPC ~ Foreign Judgment

Which of the following statements is/are correct?

(1) Pleading to state material facts and not
evidence.

(2) Amendments of pleadings is provided in order
VI Rule 16 of CPC,

Select the correct answer -

(@) only1 (b) Only 2

(c) Both1and2 (d) Neither 1 nor 2

Which Section of the CPC prohibits arrest or
detention of woman in the execution of a decree of
money?

(@) Section 55 (b) Section 56

(d) Section 60

Match list—| with list-ll and select the correct
answer using the code given below —
List—I
(A) Settlement of dispute outside the court
(B) Suit by or against Government
(C) Interpleader Suit
(D) Resistance to execution
List-1i
(1) Section 74 CPC
(2) Section 88 CPC
(3) Section 79 CPC
(4) Section 89 CPC
Code - ,
(@) (A)-4, (B)-3, (C)-2, (D)-1
(b) (A)-4, (B)-2,(C)-1, (D)-3
(c) (A)-3,(B)-4,(C)-2, (D)1
(d) (A)-3, (B)-2, (C)-4, (D)-1

Order XX — A of the Civil Procedure Code applies to
which of the following?
(@) withdrawl of Suits  (b) Appeal

(d) Judgment

84.

85.

86.

87.

88.

fF=fefaa # | aivar ve gafea 78 82
(@) T 2(2) Rifaer ufhan dfiear—fea

(b) urRT 2(9) ffaer wfshan wigar—fofy

(e) arr 2(13) ifaer ufshar wiRar—anasr

(d) a1 2(6) Fufaer uftrar Gfea—faceh frfy

o & & —a1/9 ®om wd & /&

(1) e & aifcass el BT, 7 5 ww o
HU BRI |

(2) A= 1 G Rifder fthar fRar &
ameervi A 16 o ureenfag 2

e SR gy —
(a) Baer 1 (b) Paer 2
(¢) 18R 2 QT (d) Far1-m & 2

fafder ufshar dfRar & 9 @ arT 99 @)
31 & e § Rl & ARgar a1 AR
&1 ;. wRdt 27

(@) RT 55 (b) ¥RT 56

(c) &RT 59 (d) gRT 60

A Bl -1 F gHfera ARG e i

& el & R e ¥ 9 s g —
-

(A) 1ol & 91 faaret &1 fAgerT
(B) IXPR ERT AT S9% favg a1
(C) SrRIf¥ardy arg
(D) fwaTE=t &1 wfeRr
- ,
(1) T 74 Rufder wfshar w@fgan
(2) awr 88 Rifder ufban wfgar
(3) ¥RT 79 Fufder ufshar wfear
(4) e 89 fufaer uferan wfear
a&?' =
(a) (A)-4, (8)-3,(C)-2, (D)1
(b) (A)-4, (B)-2, (C)-1, (D)-3
() (A)-3, (B)-4, (C)-2, (D)-1
(d) (A)-3, (B)-2, (C)-4, (D)1
e ufthar wfar &1 sy xx-aA = § 9
fFe W @r g 27
(@) drg @1 @it 3T (b) et
(c) @ (d) oy
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89. Match list=I with list-Il and select the correct

answer using the code given below the lists —
List—1

(1) Section 11 CPC

(2) Section 26 CPC

(3) Section 33 CPC

(4) Section 35 B CPC
List—1I

(A) Institution of Suits

(B) Res judicata

(C),Costs for causing delay

(D) Judgment and Decree

Code -

(@ (A)-1,(B)-2,(C)-3, (D)-4

(b) (A)-2, (B)-1, (C)-4, (D)-3

(c) (A)-3, (B)-4, (C)-1, (D)-2

(d) (A)-4, (B)-3, (C)-2, (D)-1

90. Subject to Sub-Section(2) of Section 64 of the Code
of Civil Procedure, 1908, a private alienation of
property after attachment is -

(a) Voidable
(c) Lawful

(b) Improper
(d) Void

i

91. Which Section of Cr.P.C. is related to
unnecessary restraint”?
(a) Section 49

(c) Section 46

no

(b) Section 44
(d) Section 43

92. Match list-l with list=ll and select the correct
answer using the code given below the lists —
List-l
(A) Contents of charge
(B) Judgment
- (C) Assistant Public Prosecutor
(D) Reference to High Court
List=II
(1) Section 395 Cr.P.C.
(2) Section 25 Cr.P.C.
(3) Section 353 Cr.P.C.
(4) Section 211 Cr.P.C.
Code -
(a) (A)-3, (B)-4, (C)-2, (D)-1
(b) (A)-1, (B)-4, (C)-3, (D)-2
(c) (A)-4,(B)-3,(C)-2, (D)1
- (d) (A)-4, (B)-2, (C)-3, (D)-1

89. g~ @ A1 ¥ Al PG T Rt
& A R 7Y ge @ w6 e @ g -
Gl
(1) g 11 fafaer uftear w@fEar
(2) a1 26 Rafaer wfthar dfgar
(3) T 33 Rufaer wfekar wfgar
(4) aT 35 8 fafder gfshar fear
Gl

(A) aral &7 Aferd foar ST
(8) Y=g / I
() faer B1RT = & forg =i
(D) faofa &k feamt
@ —

(@) (A)-1,(B)-2,(C)-3, (D)4
(b) (A)-2, (B)-1, (C)-4, (D)-3
(e) (A)-3,(B)-4, (C)-1, (D)-2
(d) (A)-4, (B)-3, (C)-2, (D)-1

90. &g ufehar Gfdl, 1908 B IR 64 SUHRI(2)

% I YEd Y {P! & AT FHfT BT ol
3feRoT —

(@) g © (b) srfea &
(c) fofyr @ @ @ 3= 2

91. zug yfthar Gfear @ ST W URT "I
AR 7 R W AT 87 '

(a) grRT 49 (b) gRT 44
(c) 9gRT 46 (d) grT 43
92. Al B GIHI | gAfera BIg T R
| Eﬁ?ﬁgﬁﬁﬂﬁ@@ﬂﬁwaﬁqﬁq—
—| o
(A) IRIT BT ITareq
(8) fArof

(C) GETd d SIfHarT®

(D) 9= NI &Y e
Glal

(1) RT 395 €U Ufshar wfgar

(2) &IRT 25 €U8 UfthaT wfddn

(3) &IRT 353 U Ufthar wfadr

(4) TRT 211 v Ufshar Gfadr

E}z\? —

(a) (A)-3,(B)-4,(C)-2, (D)1

(b) (A)-1, (B)-4, (C)-3, (D)-2

(c) (A)-4, (B)-3, (C)-2, (D)-1

(d) (A)-4, (B)-2, (C)-3, (D)-1
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93.

94.

95.

97.

Where lies the procedure under Criminal Procedure
Code, 1973, when corporation or registered society
is an accused?

(a) Section 319
(¢) Section 305

(b) Section 304
(d) Section 306

Match list—I with list—Il ‘and select the correct
answer using the code given below the lists -
List=I

(A) Language of the Court
(B) Compensation to the victim
(C) Classification of offences
(D) Inherent powers of High Court

. List-l
(1) Section 482 Cr.P.C.
(2) Section 272 Cr.P.C.
(3) Section 357 Cr.P.C.
(4) 1% Schedule Cr.P.C.
Code -
(@) (A)-2, (B)-3, (C)-4, (D)1
(b) (A)-3, (B)-1, (C)-2, (D)-4
(c) (A)-4, (B)-2, (C)-3, (D)1
(d) (A)-1, (B)-4, (C)-2, (D)-3
Which Section of Cr.P.C. has provision for
cancellation of warrants? '
(@) Section 69
(c) Section 71

(b) Section 70
(d) None of the above

Assertion (A): Inquiry precedes trial.

Reason '[R}: Trial is the third stage of criminal

proceeding. s

(@) (A) and (R) both are true and (R) is the correct
explanation of (A) '

(b) (A) and (R) both are true but (R) is not the
correct explanation of (A)

(€) (A)is true but (R) is false

(d) (A)is false but (R) is true

An offence punishable with imprisonment for a
term exceeding two years relates to -

(a) Summon cases

(b) Warrant cases

(c) Both of the above (a) & (b)
(d) Neither of the above (a) & (b)

93.

94,

95.

97.

AMURISS ufehar fedr, 1973 § et ey ar

dSiipd WAl & sifrgaiiaxor 3 ufear @l
Traenfa 87 ' :

(@) &RT 319 (b) &IRT 304

(c) &RT 305 (d) 9RT 306

THl-1 BT -1 § gafera ST e gt

& 49 A T g ¥ 9 SR Bl ghg —
-

(A) TSI T 9TeT

(B) UIST &Y ufdey

(C) 3uxTEelf BT FIffepRor

(D) S& T &Y Jafed wfdar
-

(1) URT 482 v UfehaT wfedr

(2) gRT 272 TvE Ufhar wfRar

(3) ¥IRT 357 §v Wfshar fedr

(4) T SIRTT €U Ufshar wigar

@

(a) (A)-2, (B)-3, (C)-4, (D)1

(b) (A)-3, (B)-1, (C)-2, (D)-4

(c) (A)-4, (B)-2, (C)-3, (D)-1

(d) (A)-1, (B)-4, (C)-2, (D)-3

TS Yfshdr wfgar & -9 ORT dRe @

FR=fexer & graue ey 87

(@) gr1 69 (b) g=T 70

() o=T 71 (d) SR § ¥ o5
T8l

. @R (A): ST R & gt ¥

BRY (R): fareT srRif®es SRiEE) &1 Sa-T

TRT B | _

(@ (A) 3R (R) M ¥ & 3R (R), (A) DT &
T 8

(b) (A)3iR (R)SHI Wed & AP (R), (A) P TE
ARAT &l &

(¢) (A) T & W] (R) 3T B

(d) (R) T & W (A) 3T B

31 99 9 IR Al & sRE™ ¥ gvsH™

IURTT BT T B —

(a) ¥+ Al A

(b) gRRve AWl |

(c) U (a) TAT(b) TFT &

(d) SUIFT (a) TAT(b) TFF H A foely & &)
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98.

99.

100.

101.

Match list—I with list—Il and select the correct
answer from the code given below the lists -
List—I
(A) Arrest by Magistrate
(B) Arrest by private person
(C) Arrest how made
(D) Arrest by police officer without warrant
List=Il
(1) Section 41 Cr.P.C.
(2) Section 43 Cr.P.C.
(3) Section 44 Cr.P.C.
(4) Section 46 Cr.P.C.
Code -
(a) (A)-1,(B)-2,(C)-3, (D)-4
(b) (A)-3, (B)-2, (C)-4, (D)-1
() (A)-2,(B)-3,(C)-1, (D)-4
(d) (A)-3, (B)-2, (C)-1, (D)-4
Which one of the following Section of Criminal
Procedure Code, 1973 provides that, ‘No judge or
Magistrate shall try any case in which he is
personally interested’?
(a) Section 477
(c) Section 478

(b) Section 481
(d) Section 479

The subject of criminal procedure falls in which one
of the following List of the Constitution of India?
(@) Union List (b) State List

(¢) Concurrentlist - (d) None of the above

‘Arrange the following in the chronological order on

the basis of Sections of Criminal Procedure Code —
I- Public prosecutor

II- Special Metropolitan Magistrate

1lI- Special Judicial Magistrate

IV- Court of Session

Select the correct answer using the code given
below —

Code -

(@ 1,1, Mand v
(€) 1, 1v, ltand |

(b) IV, 11, Nand |
(d) 1, 1v, lland Il

98.

99.

100.

101.

G- BT G-I Gl g T iR
% = oA T g BT TANT B gY Fel ST
BT FIT DI —
-
(A) ARTEE ERT ARG
(B) UTgde <Afda ERT FRRwarl
(€) FRTAR &8 &1 ARAf
(D) gfersr SifreRY gRT faem dioe & FRward
-l
(1) IIRT 41 €8 Yfehar wfgar
(2) RT 43 gvs yfshar Afedr
(3) &IRT 44 €U Yfshar wfEan
(4) TTRT 46 TUS HfshaT wfedl
a?:\E —
(a) (A)-1, (B)-2,(C)-3, (D)4
(b) (A)-3, (B)-2, (C)-4, (D)-1
(¢) (A)-2, (B)-3,(C)-1, (D)-4
(d) (A)-3, (B)-2, (C)-1, (D)-4

U Ylshar wfedr, 1973 @1 9 aRwei | ¥
g ant § ®e1 T ® 5 By o <
a1 Afoge U ArTell &1, o 98 W fRaas
2, faror 78 sam?

(@) arT 477 (b) eIRT 481

(c) arT 478 (d) &TRT 479

Tus gfhar fAvw YR & wdfdu= @1 =
it & e gl & s=rfa s 87

(a) Hg g | (b) wrog AT #

(c) wacit = A (d) SRIFT H BIg T8I
fr=rfaRaa o1 gvs ufshar wfgar @ grweil &
IR TR HAMHR FaReId PIfog —

- A IIfareTS

II- faey AR ARTET

ii- ey =nfae afrsge

V-5 Ty

I A ™ FE BT TET IR g WEl SR
gﬁ'g-.
E@_".—.

@ 1,1, MR IV
(©) i, v, N3

(b) 1v, 1iI, 1 3R 1
(d) 1, 1v, maiR
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102. When the accused is aggrieved by the report of the
Psychologist as to his unsoundness of mind, he may

appeal to -

(@) Magistrate hearing the case

(b) High Court .

(c) Medical Board

(d) Session Court E:)

§ oy

103. Which of the following is not correctly fatched?
(a) Trial by High Court — Section 473 of;g) P.C.
_ Y
(b) Power of High Court to make rules — Section

477 of Cr. P.C.

(c) Appeal in case of acquittal =Section 378 of Cr.

P.C. P
P
(d) Resumption of inquiry or trial - Sectioh 331 of
P
Cr.P.C. <
<2
104. Which Provision of the Cr.P.C. resembles with
Habeas Corpus Writ?
(a) section 91 (b) Section93
(c) Section 97 (d) Section 96’
Loy

105. Which one of the following is correctly matched?
\ (a) Section 44 Cr.P.C. — When police’%y arrest
without warrant o
(b) Section 42 Cr.P.C. — Arrest on refusal to give
name and residence
(c) Section 41 Cr.P.C. — Arrest by Magisggte

(d) Section 43 Cr.P.C. — Arrest how mada~
&

-
106. Who is given protection from arFE};t under
Section 45 of the Code of Criminal ER'{lncedure
19737 !
(a) President of India
(b) Members of armed forces
(c) Judicial Officers

(d) Members of Parliament

102.

103.

104.

105.

106.

59 IR FAREG & g faw fRefy @
IR | AT &1, @ a8 Ifie BR FebdT 2—
(a) gTarg o= arel AfTge & uTd

(b) S=a =TTy H

(c) AfePHar a1 H

(d) 93 Ty §

frefafaa 4 9@ @19 w2 gafera T8 27

(a) Sz < & FHeT famRer — aRT 473
TUs ufshar Hfear

(b) Szg e @Y W W P wfd —
¥RT 477 <Us Ufshar wfzar

(c) T & 2 H fidl — HRT 378 TUS
gfshar wfgam

(d) Sitg a1 faaRer &1 g 9o BT — HRT
331 qus ufshar wfgar

qug Ufhar SfEar &1 B uauE gl

ycENpRYT Re & |ge 272

(@) grT 91 (b) &RT 93

(c) EIRT 97 (d) eIRT 96

e # & @41 v we gafera 87

(@) &RT 44 TS wfbar wiwedr — ygferq dike &
a1 ARAR &% Fa i

(b) aRT 42 TvS ufthar Hfgdar — A 3R A
M ¥ FBR B R RN

(€) uRT 41 TUS Ul WfRear — ARrEe gRI
AR

(d) uRT 43 TUS yfthar wfear — ARTIRT 39
P ST

qug Yfdhar wfedr, 1973 &1 URT 45 & 3f=Fiq

o FRTART | gRem ua™ @) 1 27

(@) “Ra & Ul

(b) HET gl B T

(c) =& Ry

(d) ¥Eg & Aa
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107.

108.

109.

Match list-1 with the list-Il and select the correct
answer using the code given below the lists —
List=I o
(A) Duty to register FIR
(B) Laches in investigation
(C) Faulty investigation
(D) Delay in examination of witnesses
List=ll :
(1) Rajinder Singh Katoch wvs. Chandigarh
Administration and others
(2) Krishnegowda vs. State of Karnataka
(3) Saidu Mohammed vs. State of Kerala
(4) Surjit Sarkar vs. State of West Bengal
Code -
(a) (A)-1, (B)-2,(C)-3, (D)-4
(b) (A)-2, (B)-1, (C)-3, (D)-4
(c) (A)-4, (B)-3, (C)-1, (D)-2
(d) (A)-3, (B)-1, (C)-2, (D)-4

A Session Judge, under Section 9(2) of Cr.P.C. is
appointed by the —

(a) District Magistrate  (b) State Government

(¢) High Court (d) None of the above
Match list- with list-ll and select the correct answer
using the code given below the lists —
List=I
(A) Anticipatory Bail
(B) Cognizance on complaint
(C) Language of Court
(D) Security of good behaviour from habitual
offender
List—I
(1) Section 272 Cr.P.C.
(2) Section 110 Cr.P.C.
(3) Section 438 Cr.P.C.
(4) Section 190 Cr.P.C.
Code -
(@) (A)-2, (B)-4, (C)-1, (D)-3
(b) (A)-1, (B)-3, (C)-4, (D)-2
(c) (A)-4, (B)-2, (C)-3, (D)-1
(d) (A)-3, (B)-4, (C)-1, (D)-2

107.

108.

109.

A BT G-Il | GAferT BIfTY e il

® - Ry T He ¥ |9d IR g —
-

(A) TB.IAE.IR. Tof PR BT A

(B) 39T H faer

(C) G 3T

(D) TTaTEl @ TXIEoT # fder
LGl

(1) WIfSTex Rig ®er™ a9M Ui Jema+ gd

=
(2) FOFET 9 FHACH I

(3) g, HIgHE g9 IR Y

(4) GRS TRDR G STl 5T

@' —

(@ (A)-1, (B)-2,(C)-3, (D)-4

(b) (A)-2, (B)-1, (C)-3, (D)-4

(c) (A)-4, (B)-3, (C)-1, (D)-2

(d) (A)-3, (B)-1, (C)-2, (D)-4

3us Ufthar wfEar @ URT 9(2) @ Said U
T AR B G oo D NI B
el 21

(@) forerr SiferprT

(c) T=a g

(b) I PR
d) SR § ¥ B
T8l

A 3R G-I B gAferd &) A1 fad T

He D FErAl A WEl IR AT —
-

(A) 1R SHFT

(8) URaTE R HIH

(C) TITTT BT {97

(D) 3T STURIRRT & He@R & forg ufergfar
-l

(1) IRT 272 g0 Ufhar wfear

(2) IRT 110 €U Ufhar wfear

(3) IRT 438 TUS Ufehar wfgar

(4) IRT 190 Tv8 Ufshar Hfgar

6 — .

(@) (A)-2, (B)-4, (C)-1, (D)-3

(b) (A)-1, (B)-3, (C)-4, (D)-2

(c) (A)-4, (B)-2, (C)-3, (D)-1

(d) (A)-3, (B)-4, (C)-1, (D)-2
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110. permission to investigate into a non-cognizable

111.

112.

113.

‘Assertion (A) : Right

offence can be granted by -

(a) Magistrate. first class in any part of India

(b) Magistrate in any part of State

(€) Magistrate having Jurisdiction to try the
offence’

(d) Session Judge

Match list-1 with list-1l and select the correct answer

from the code given below the lists —
List=I

(A) Equal Justice and Free Legal Aid

(B) Constitution of Parliament

(C) Separation of Judiciary from Executive

(D) Fundamental Duties
List=lI

(1) Article 50

(2) Article 51A

(3) Article 39A

(4) Article 79

Code -

(@) (A)-1, (B)-2, (C)-3, (D)-4
(b) (A)-2, (B)-3, (C)-4, (D)-1
(€) (A)-3, (B)-4, (C)-1, (D)-2
(d) (A)-1, (B)-4, (C)-2, (D)-3
Which Article of Constitution provides for
establishment of ‘Goods and Services Tax Council’?

(a) Article 269A (b) Article 270
(c) Article 279A (d) Article 279

to  Education is a
Fundamental Right.
Reason (R) : Our Constitution has no provision for
education before making Right to
Education as Fundamental Right.
Select the correct answer -
(@) Both (A) and (R) are true and (R) is the correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is not a correct
explanation of (A) '
() (A)istrue but (R) is false

(d) (A) is false but (R) is true

110.

111.

112

. (©) sg=eT 279A

113.

ST IR BT FAGTAT Y A agEi

Sl & —

(@) IR & fBA o 9 B yew Aol aRre
gRT

(b) 3157 & i o AFT B AR gw

(€) IR B gars @ fw afdeiRar e
arel ARG E EIRT

(d) T3 <R gRT :

A1 9§ G-I, BT gAferd PTG dern gl

& T R T He T yA FRA gY wE SR

BT TYT  BIY —
-

(A) T T 3R fregew fafde wermEr

(B) i T T3

(C) PRIUTITeST & ~TauTfersT T Yereasvor

(D) He Feted

(a) (A)-1, (B)-2, (C)-3, (D)-4

(b) (A)-2, (B)-3, (C)-4, (D)-1

(c) (A)-3, (B)-4, (C)-1, (D)-2

(d) (A)-1, (B)-4, (C)-2, (D)-3

WAIT BT P ATBT AT T WaT B

qRYQ’ @) RITYHT BT UG BT &2

(a) =BT 269A (b) s =T 270

(d) srgeeT 279

B (A) : Renm &1 afeR e A

PR B |

DR (R) : R & iR &) 9 ier
T 9 gd w9R e § B @
AWPR TR IS yraeE A8
o |

|e! ST gAY —

(@) (a) 3R (R)SHT W & 3R (R), (A) FT T

BT &
(b) () 3R (R)TMI T & R (R), (A) BT HEY
TR FE &
(€) (A) T & W= (R) 3T &
(d) ()3T € URg (R)FH &
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114.

115.

116.

By the Ct::nstitt.ltionl103"“1 Amendment Act, 2019,
which one of the following_CIause was added to
Article 16 of the Constitution of India?

(a) Article 16 (4-B)

(b) Article 16 (5)

(c) Article 16 (6)

(d) Article 16 (7)

Match list-1 with list-1l and select the correct answer

using the code given below the lists -
List-1

(A) Right against Exploitation

(B) Equal justice and free legal aid

(C) Power of President to grant pardon

(D) Seat of Supreme Court
List=I

(1) Article 39A

(2) Article 130

(3) Article 23-24

(4) Article 72

Code -

(a) (A)1,(B)-2,(C)-3, (D)4

(b) (A)-3, (B)-1, (C)-4, (D)-2

©) (A)2, (B)-3,(C)-1, (D)-4

(d) (A)-4, (B)-1, (C)-2, (D)-3

Under which one of the following Articles of the
Constitution of India, the Supreme Court has power
to review its own decisions?

(a) Article 136

(b) Article 135

() Article 137

(d) Article 138

114.

115.

116.

dfeur 103 A arﬁzﬁw 2019 BRI

frfeRad § | PE—a1 GUS IRA S AR

@ IFEPE 16 SISl TAT?

(a) 3T 16 (4-B) .

(b) 3BT 16 (5)

(c) =T 16 (6)

(d) 3BT 16 (7)

A1 B GA—I § GAfTT BT 5T ¥t

& 99 Y ™ g ¥ W8 SR A g —
-

(A) IT & favg SRR

(B) M =TT 3R Figes fafdd weraar

(C) &THT YT R B Irgufa Bl el

(3) JITTOT 23-24
(4) FITDT 72

e =

(@) (A)-1,(8B)-2,(C)-3, (D)-4

(b) (A)-3, (B)-1, (C)-4, (D)-2

(©) (A)-2, (8)-3, (C)-1, (D)4

(d) (A)-4, (B)-1, (C)-2, (D)-3 -

YRd @ SogoH e B GRuE @
frefafaa el & W 59 og®™e @
arafa e Aol & gAfdare @1 ufe ura
27

(a) arg=e 136

(b) 3T 135

(c) Irgede 137

(d) e 138
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117.

118.

119.

Match list-1 with list-Il and select the correct answer
using the code given below the lists —-
List—l
(A) Article 43
(B) Article 42
(C) Article 44
(D) Article 50
List—ll
(1) Separation ofJudiciarv.from Executive
(2) Living wage, etc., for workers
(3) Provision for just and humane conditions of -
* work and maternity relief
(4) Uniform Civil Code
Code -
(@ (A)-1, (B)-2, (C)-4, (D)-3
(b) (A)-2, (B)-3, (C)-4, (D)-1
(c) (A)-2, (B)-4, (C)-1, (D)-3
(d) (A)-3, (B)-4, (C)-1, (D)-2

In case of death of the President while in office, the

Vice President can act as President for a maximum

period of -

(a) 1year (b) 3 months

(c) 2years (d) 6 months

Which of the following pair is not correctly

matched?
(a) Short title of Constitution — Article 1
(b) Official language of State — Article 345

(c) Advocate General for the State — Article 165

(d) Constitution of Parliament — Article 79

i17.

118.

119.

?ﬁr—laﬁqﬁt—ltfﬁwgﬁ%ﬁﬁsﬁ?@u’f
& A A T g BT U FR Gl IW F
T BN —

-

(A) ITTTVT 43

(B) STTTVT 42

(C) 3T 44

DEREEE

Al |

(1) HRITTIDT B ~raTerdl | ST HRAT
(2) sifrepT @ forg fafe #org, onfa

(3) R 3R A B sl ok wwf

(a) TE Rifder

i

(@) (AL, (B)-2,(C)4, (D)-3

(b) (A)-2, (B)-3, (C)-4, (D)-1

() (A)-2,(B)-4,(C)-1, (D)3

(d) (A)-3, (B)-4, (C)-1, (D)-2

7g W e gY WU @ Y B WM W
Uy e fhae w6 ISl
& ©U ¥ B B FHAT 27

(a) 1oy
(c) 299
FpfeRad 3§ PH—1 g & & A GAferd
T8 77

(a) R BT R T — AT 1

(b) TS Y USTUTET — ATWE 345

() XTI &1 WEIRaadr — AT 165

(d) E¥E BT TG — TS 79

(b) 3H1E
(d) 6H1E
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120. Match list-1 with list-Il and select the correct answer

121.

122.

using the code given below the lists —
List-l
(A) Distribution of Legislative power
(B) Organisation of Village Panchayats
(C) Extent of'exécutive power of the Union
(D) Parliamentary privileges
List-I
(1) Article 40
(2) Article 73
(3) Article 245-255
(4) Article 105
Code -
(@) (A)-3, (B)-1, (C)-2, (D)-4
(b) (A)-4, (B)-1, (C)-2, (D)-3
(c) (A)-3, (B)-4, (C)-2, (D)-1
(d) (A)-1, (B)-2, (C)-3, (D)-4
In which case Supreme Court says that, ‘Ownership
is pre-eminently a right'? .
(a) P.T. Municchikkanna Reddy vs. Revamma
(b) B. Gangadhar vs. B.C. Rajalingam
(¢) Bishamber Dayal Chandra Mohan vs. State of
u.p.

(d) None of the above

Assertion (A): Custom to have the force of law may
not continuously be enjoyed.
Reason (R): = Custom represents common
consciousness bf people.

Select the correct answer -

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(b) Both (A) and (R) true but (R) is not a correct
explanation of (A)

() (A)is true but (R) is false

(d) (A)is false but (R) is true

120.

121.

122.

A1 G- B AT B aon = B
T RA T g B wemar 9 R e
T PN —
-
(A) et wifas &1 fanqrorsy
(B) U™ UETIT BT TS+
(C) HE BT BrIuferdr 3iRke &7 RAwR
(D) HEEHT fagiReR
-
(1) I7=8T 40
(2) argesT 73
(3) 3T 245-255
(4) 3BT 105
az‘d A
(@) (A)-3, (B)-1,(C)-2, (D)-4
(b) (A)-4, (B)-1, (C)-2, (D)-3
(c) (A)-3,(B)-4, (C)-2, (D)-1
(d) (A)-1,(8)-2, (C)-3, (D)-4
e amel § waten =mrem % w2 f
AT JI BT W Y ARPR P
(@) QY. gRade=m Y& a7 e
(b) 1. TRR gErg QA oy
(© ferR @ awEET W w@e it

g.qm.
(d) Sudw 5 & B TE
3BT (A): Y BT a1 @y & forw werr @y
R aRefya war siawas
SRR
DRI (R): YT AR @) AR JFAT BT
gfafferes svar 2 '
el SR gAv —
(@) (a) 3R (R) T W= ¥ 3% (R), (A) B wE
T BT &
(B) (A) 3R (R) ST w1 & fobeg (R), (A) BT T
AT & PBRar &
(©) () ¥ B g (R) g 2
@) (A) 3T B g (R) ey 2
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123.

124.

125.

126.

127.

‘The greatest happiness for greatest number’ is -
(a) Utilitarian Concept

(b) Realist Concept

(c) Posifivist Concept

(d) Analyst Concept

Match list-1 and list-Il and select the correct answer
using the code given below the lists —

List—l List—Ii
(A) Purpose Theory (1) Salmond
(B) Will Theory (2) Gierke
(C) Fiction Theory (3) Ihering
(D) Realist Theory (4) Austin

Code -

(a) (A)-4, (B)-3, (C)-1, (D)-2

(b) (A)-4, (B)-3, (C)-2, (D)-1

(c) (A)-3, (B)-4, (C)-1, (D)-2

(d) (A)-3, (B)-4, (C)-2, (D)-1

Which of the following is an exception to the maxim
‘Ubi jus ibi remedium’?

(a) Perfect right

(b) Imperfect right

(c) Positive right

(d) Negative right

Which of the following is not correctly matched?
(a) Law, Liberty and Morality — Fuller

(b) Social Control through Law — Roscoe Pound
(¢) Levers of social motion — Ihering

(d) Leviathan — Hobbes

The concept of ‘Living Law’ was expounded by
which Jurist?

(@) Ihering

(b) Duguit

(¢) Ehrlich

~ (d) Roscoe Pound

123.

124.

125.

126.

127.

‘IfRHaH Al BT AfHTH g © —
(a) SUARIATATE] STaERon

(b) TTRIATEY JFEIROT

(c) JcuETars) TR

(d) fveiv® @R

A1 B A1 gafera SIfTg qer Jial

@ 1 A T g | 98 IR BT gAY —
- -

(A) S Figid (1) ATATS

(8) g1 frgia (2) i

() Freafa fRrgia (3) g8l

(D) Temefardl Rigid (4) 3ftRe=

7T — :

(@) (A)-4, (B)-3, (C)-1, (D)-2

(b) (A)-4, (B)-3, (C)-2, (D)-1

(c) (A)-3, (B)-4, (C)-1, (D)-2

(d) (A)-3, (B)-4, (C)-2, (D)1

ferferRad % | @19 T8l e R €, a8 SUdR
T B YF AR BT AYAE 77

(a) goi SfErpR

(b) Ui SARBR

(c) AHRIHD ARADR

(d) THRIHS SIRABR

frfaiaa § & 9 w8 gafoa 781 87
(a) off, foract Tus ARferdt — BeR
(b) e Fsier o ot — e TS
(c) orad 3ife e |eE — 8RR

(d) wifager — g

e AR &) srquren 31 fea e 9
gt faar 8?2

(a) sefr

(b) Tgfre

() gefera

(d) ITRT TS
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128.

129,

- (e) Kelsen

130.

131,

L 4

Match'list-l with list-Il and select the correct answer
using the code given below the lists —
List=I
(A) Principal deposits his goods with an agent
(B) Buyer purchases books from the shopkeeper
(C) Owner wearing his watch
(D) Author’s copyright in his work
List=II
(1) Immediate Possession
(2) Mediate Possession
(3) Incorporeal Possession
(4) Corporeal Possession
Code -
(@) (A)-2, (B)-1, (C)-4, (D)-3
(b) (A)-1, (B)-2, (C)-4, (D)-3
(¢) (A)-2, (B)-4, (C)-3, (D)-1
(d) (A)-2, (B)-1, (C)-3, (D)-4
Who among the following said that witnesses are
eyes and ears of justice?
(a) Holland (b) Bentham
(d) Fuller

“Jurisprudence is the scientific synthesis of the
essential principle of Law.” This statement is of -
(@) Prof. Allen (b) H.LA. Hart

(c) E.W. Patterson (d) Keeton

Given below are two statements, one is labelled as
Assertion (A) and other as Reason (R).
Assertion (A): International Court of Justice has
¢ power to decide cases on the basis
Y of equity.
Reason (R): Equity is one of the general Principle of
Law recognised by civilized nations.
Select the correct answer using the code given
below :
Code -
(@) Both (A) and (R) are true and (R) is the correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(€) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

128

¢Y)
<
)
sl

129

e

(o

130.

- (a) gfcls

- -1 AT -1 BT GAfera HIRTY iR ferat

b I @Y T g P ST FXA Y AL

SR g —
—

(A) HIfTes AU AT U AfDBT b URT STET

HRAT &

(B) shell GHMER ¥ J&Id @l

(C) T T UE g% T

(D) oRFe DI T J¥d TR Ufferanfier

(a) (A)-2, (B)-1,(C)-4, (D)-3
(b) (A)-1, (B)-2, (C)-4, (D)3
(c) (A)-2, (B)-4, (C)-3, (D)-1
(d) (A)-2, (B)-1, (C)-3, (D)-4
fr=ifeiRad & & fem @er 6 wae =m &

< g Ud & B 87

(b) gy

(c) DI (d) Ber

“faftremes fafr @ anavas Rigia &1 dsnfe

HYAYT B (" IE BT § —

(@) WIHER Ted @1 - (b) TH. Udl. U B BT

(€) 5. Sy, YT B1(d) HeT &r

AR 3T B R R € Rl ¥ U @

BT (A) AR GER BT BROT (R) BT AT

2

AMFT (A): SRR R $1 9 B
' IR R AW & vy &

oIfth T B

BRI (R): AR GRT IS ERT AT U fafey
C % M g 6 Qe R

e @ T g d w9 SR g

Te —

(@) (A) 3R (R) HT T & 30N (R), (A) BT T&Y

QIR HRAT &
() (A) 3R (R) ST T & b (R), (A) B TE
@ T PRar ©
(©) (A) ¥ B fg (R) 39 &
(d) ()3T 2 fog (R) O ®
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132.

133.

134.

135.

Under which Article of the U.N. Charter, the
members of United Nations have agreed to abide

by the decisions of the Security Council?
(@) Article 25 (b) Article 26
(¢) Article 27 (d) Article 28

Match list-l with list-1l and select the correct answer

using the code given below the lists — &M
List—| s
(A) International Day of Education f:{
(B) World Environment Day =
(C) World Teachers Day N
(D) International Mother language
List-l
(1) 24 January o
(2) 05 October ::}
(3) 21 February s
(4) 05 June &
Code - N
(@ (A)-1, (B)-2, (C)-3, (D)-4
(b) (A)-1, (B)-4, (C)-2, (D)-3
(© (A)-2, (8L, (C}4,(D)-3 o
(d) (A)-3, (8)-2, (C)-1, (D)-4 =
% i

What was the theme of World Human Right Dgy,
2021? ¢

o~

(@) Woman Right are Human Rights
(b) Recovers better -Standup for Human Rights

(c) Let’s standup for equality, justice and humqn-_-_,

- " I‘-.-.;__
dignity P

(d) Equality -Reducing inequalities, N 'i"
=t

advancing Human Rights i

N

Which Article of the Universal Declaration of

Human Rights, 1948, grant Right to life, liberty and

132

133.

134.

135.

HYH TG P Aew gRe uReg & vy 9

qrg &7

(@) =T 25 (b) =BT 26

(e) IesT 27 (d) srgeoe 28

A B G-I § GAferd BTG denm gret

3 9 R W e ¥ 9 IR 31 gRY —
-

(A) SRS fRrer fea

(8) fawa qafawor feaw

(c) faza Rere faw

(2) 05 37T

(3) 21 BRI

(4) 05 S

N .

(a) (A)-1,(B)-2, (C)-3, (D)-4

(b) (A)-1, (B)-4, (C)-2, (D)-3

(€) (A)-2, (B)-1, (C)-4, (D)-3

(d) (A)-3, (B)-2, (C)-1, (D)-4

faeg AafdeR fdgw 2021 &1 favg a7 o417

(a) wfgeT @R 79T AfRHR B

(b) qER TS § T G I — AARDRI
@ fog @s &

-(¢) W,wmeﬂ?qmmﬂvﬁmiﬁm@%

&l
(d) §HFAT — SFATAR Bl HH BRI
AFAIEBRT BT IR I
AMg AfPGR @ e @, 1948 @
fFe argese H ydid afdd $I Siiad, wa-—=idl

security of person? - SIRCRIERE IRETT 1 sy feam &7
(a) Article 1 (b) Article 2 (a) argedT 1 (b) 3TTBT 2
(c) Article 3 (d) Article 4 (¢) 3T 3 (d) 3BT 4
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136.

137.

138.

139.

Given below are two statements, one is labelled as

Assertion (A) and other as Reason (R) -

Assertion (A): United Nations Charter does not
authorise United Nations to
intervene in matters which are
essentially within the domestic
jurisdiction of any State.

Reason (R): This principle shall not prejudice the
application of enforcement
measures under chapter VIl of the
U.N. Charter. |

Select the correct answer using the code given

below - |
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

Russian invasion on Ukraine violates which Article
of the U.N. Charter?
(a) Article 1 (4)

(c) Article 3

(b) Article 2 (4)
(d) Article 4 (2)

QUAD (Quadilateral Security Dialogue) Summit,
2022 was held at which place?

(b) Australia

(d) India

(a) Japan

(c) Germany

In November 2021, which of the following has
Iaunﬁhed a new Journal ‘Solar Compass’ to enhance
research on the use of Solar Power?

(a) United Nations Environment Programme

(b) Global Green Growth Institute

(€) International Solar Alliance

(d) Euro-solar

136.

137.

138.

139.

T v A M B Rd 9 @ @

BT (A) IR TR BT BRI (R) H&T 74T

2 _

JMAHAT (A): GGH G TR [H I B
AMEEIH U W TN "AHAT H
BRI B WYTh I DI AP
& Hxar B

“HRYT (R): 8 UG W W AR & FeaTd

vil # SfeaRad yade SUrl @ ganT
W Bz Ufdhe Y9G S A8l
@) |
A e T g ¥ WE SR g —
(a) (A)3R (R)GHI ¥ & 3R (R), (A) BT T
RAT BT &
(b) (A) 3iR (R) &M | & foeg (R), (A) BT WL
AT T&| Bl &

(©) (A) ¥ £ fh=g (R) AT &
(d) () 3T ® fog (R) O
b W WA BT IAEHAY HYh T IR B

5 ST BT Seaad 87
(@) =T 1 (4) (b) 35T 2 (4)
© 30T 3 (d) 3rgesE 4 (2)

QUAD (ST gReTT ¥are) Rer |=1er, 2022
e W W smafora fobar ar en?

(@) S (b) sifegferan
(c) ST+ (d) wRa

frefofaa & 4 feas 2021 § 69R ot @
ST W3 TR Te @ R e T
Y URNBT IR BRI il @Y 27

(a) WY I YATEROT BRIHH

(b) faeg sRarel fawm dver=

(c) IR AR Toaw

(d) FRrEER
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140. Who can request the International Court of Justice

to give advisory opinion on any legal question?
(@) The General Assembly of United Nations

- (b) The highest Court of Justice of any Nation

141.

142.

143.

(¢) Any permanent member of the Security
Council

(d) Any member of United Nations

Assertion (A): International Organizations play a

very important role in maintaining

peace.

Countries conflicts

differences with each other.

Select the correct answer — '

(@) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A)is true but (R) is false .

(d) (A) is false but (R) is true

Reason have

(R):

and

Which of the following executes the decision of
International Court of Justice?

(@) Military Staff Committee

(b) General Assembly

(¢) International Court of Justice itself

(d) Security Council

Match list=| with list—Il and give correct answer by
using the code given below the lists —
List—l y
(A) Composition of General Assembly
(B) Composition of Security Council
(C) Composition of Economic and Social Council
(D) Composition of Trusteeship Council
List=lI
(1) Article 9
(2) Article 61
(3) Article 86
(4) Article 23
Code -
(@) (A)-1,(B)-2,(C)-3,(D)-4
(b) (A)-1,(B)-4,(C)-2,(D)-3
() (A)-2,(B)-3,(C)-4,(D)-1

: (d) (A]-sf (B}‘Z; (C)-d-_, {D)'l

141,

142,

143.

& A fed

- 140, 5 e wv W oIS wmem 9

Wﬁmﬁﬁma@uﬁﬁmm
2
(a) Xgh IE HE Bl FETHT
(b) & f I HT Watea <MY
(¢) rem aRye &1 $ig ff wrll wew
(d) G I HG FT BIE A HEw
AT (A): RIS e wfa enfia
@ W ggd weedqul AT 3raT
PR B |
BRY (R): TSI & UH GO W <HYG U4 HWg
B 8 |
HEI IR BT AT —
@) (A) 3R (R)TFT T & 3R (R), (A) BT TE
AT BT &
(b) (A) 3R (R) M T & 3R (R), (A) BT T
GRAT T8l Bl &
(©) (A) e & g (R) 3y &
(d) (A) ST ® g (R) W B

=fefea & & &9 SR =raeg &
ferofat @ Frepfea wwar 82

(a) ¥=y W Al

(b) HETHHI

(e) WY RIS =Tty

(d) SReT R

ﬁjﬁmiﬂﬁ@—llﬁﬁﬁ%ﬁﬂ'ﬁmﬁmw
T G I GBIl 9 HEl SR
g —
-
(A) FETIHT BT TS+
(B) & URYT & oA
(C) e wd arfore aRue &1 e
(D) =nfrar aRyg &1 T8+

(@ (A)-1,(B)-2,(C)-3,(D)-4
(b) (A)-1,(B)-4,(C)-2,(D)-3
(¢) (A)-2,(B)-3,(C)-4,(D)-1
(d) (A)-3,(B)-2,(C)-4,(D)-1
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144.

145.

146.

147.

The Headquarter of the ‘World Intellectual
Property Organization’ is Ioca.ted in-
(a) Paris (b) Madrid
(c) New York (d) Geneva

Which one of the following pair is correctly

matched?

(a) Apartheid - Treating all the people as equals

(b) Article 38 of the Statute of International Court
of Justice — Sources of International Law

(c) Number of Judges in International Court of
Justice — 20

(d) The Seat of International Court of Justice —
Paris

Which Article of U.N. Charter provides for the

~ expulsion of the member state?

(b) Article 5
(d) Article 7

(a) Article 4
(c) Article6

Match list—I with list—Il and select the correct

answer using the code given below the lists —
List-l

(A) Article 2(7) U.N: Charter

(B) Article 4(2) U.N. Charter

(C) Article 33 U.N. Charter

(D) Article 36(3) U.N. Charter
List—ll

(1) Admission of a State into U.N.

(2) Pacific settlement of disputes

(3) Legal disputes to be submitted to Internation;l
. Court of Justice .

(4) Domestic Jurisdiction Clause

Code -

(@) (A)-3,(B)-2,(C)-1,(D)-4

(b) (A)-4,(B)-1,(C)-2,(D)-3

(c) (A)-3,(B)-1,(C)-2,(D)-4

(d) (A)-4,(B)-2,(C)-1,(D)-3

144.

145.

faeg dfge T ST @1 ey Red

(a) uRe # (b) Afgs ¥
(c) wgates & (d) Srrar 3
Pt ¥ & PR T e e 27

(@) waarg — it S & 9 9EE aER

146.

147.

HIAT

(b) IR T & | P AT
38 — ISR Y & &

(€) SRS =rTerd ¥ SOl &1 W&l — 20

(d) RIS <A & 967 BT R —
R

g W AR B e R agee § wew

I B fSpTEE B e A T 87

(a) IITT 4 (b) 3 TT 5

(c) T 6 (d) 3T 7

A Bl G-I gEferd AIfg dem gl

& e R T HT | e S $ gAY —
-

(A) FTBT 2(7) WG T AKX

(B) 3T 4(2) WY I AR

(0) AT 33 WY W AN

(D) VT 36(3) €Y Wy AN
-

(1) Gga g H AU DI GEW GRT ST

(2) faarci &1 enfagel fAgerT

(3) e farEl & s=Risy <aaed &
fafdse fear s

(4) sm=iRe AferBIRET Sua=T

‘Efz:(“f S

(@) (A)-3,(B)-2,(C)-1,(D)-4

(b) (A)-4,(B)-1,(C)-2,(D)-3

(¢) (A)-3,(B)-1,(C)-2,(D)-4

(d) (A)-4,(8)-2,(C)-1,(D)-3
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148.

149.

150.

The concept of ‘Double Veto’ has been provisioned

under which of the following Article of U.N.

Charter? ;
(a) Article 24 (b) Article 27
(c) Article 28 (d) Article 29

The official language of International Court of
justice is -
(@) French and English  (b) English and Chinese

(¢) English and German (d) English and Russian

Match list—I with list=ll and select the correct

answer by using the code given below the lists —

List—l List-l
(A) UNESCO (1) Geneva
(B) LLO. (2) US.A.
(C) I.M.F. (3) Netherland
(D) LC.. (4) Paris

Code - -

(@) (A)-1,(B)-2,(C)-3,(D)-4
(b) (A)-4,(8)-1,(C)-2,(D)-3
(c) (A)-2,(B)-3,(C)-1,(D)-4
(d) (A)-1,(B)-4,(C)-2,(D)-3

148.

149.

150.

ﬂgﬁmaﬁ%aﬂ’rﬁfr@ﬁﬁmaﬁtﬁ
TN uRer @ sEuRor  yreenfAd
27

(@) argeoT 24

(b) rgeT 27
(€) e 28 (d) 38T 29
RIS =TT @Y RTSTHIT & —
@ %a 3R WS (b) IS 3R A

(©) 3FISh 3R W (d) USRSk WREw

11 BT -1 ¥ gAfera HITY I gferl &

e Ry Y e | e SR B gAY —
- -

(A) Zwp! (1) ST

(B) RIS 2/ dTed  (2) ZTAT.

(C) SRR g&T B (3) rexels

(D) RIS <A (4) s

TT —

(a) (A)-1,(B)-2,(C)-3,(D)-4
(b) (A)-4,(B)-1,(C)-2,(D)-3
(¢) (A)-2,(B)-3,(C)-1,(D)-4
(d) (A)-1,(B)-4,(C)-2,(D)-3
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.

2022 CODE : FOXTROT - 16
SERIES

SUBJECT : LAW

Time : 2 Hours Max. Marks : 300
Write your Roll Number In numbers

—
in the box ’ In words

To mark Answer use Black Ball-point pen only.

Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original Answer-Sheet
to the Invigilator.

IMPORTANT INSTRUCTIONS

1. Answer all questions. All questions carry equal marks. :

2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the Answer-Sheet,
otherwise the Answer-Sheet will not be evaluated and candidate will be solely responsible for it.

3. This Test Booklet contains 150 questions. Each question has four (4) options which are given below the questions.
Only one option is correct out of four. You are required to darken the circle corresponding to the alternative which you
consider to be the correct or most appropriate answer in the Answer-Sheet by Black Ball-Point Pen.

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough work given
in the last two pages of Test Booklet. .

5. In this question booklet all questions are printed in both English and Hindi languages. In case of any ambiguity in the
question, the English version of the question shall prevail.

6. If you happen to find that the Booklet issued to you does not have all the pages properly printed or it has any other
deficiency, then you need to approach the Invigilator to get another Test Booklet of same Series and Code.

7. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER
SHEET. -

(1) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty. .

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.
(iii)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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